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Question Number : 1 Question Id : 54062623265 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.

YA, VX, SU, PR, ?
Options :

1. * NR

2. %% MO

3. # PS

4. % QT

Question Number : 1 Question Id : 54062623265 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

TS 3IehH o T B, Fora § U Ue g 8| fau 77U fasedt & O o 9e! fawed gg, S 31 gehH & 1 &R |

YA, VX, SU, PR, ?
Options :

1. * NR

2. ¥ MO

3. % PS

4. % QT

Question Number : 2 Question Id : 54062623266 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.

LP35, 0S41, RvV47,UY53, ?
Options :

1. ®* XB44

2. ¥ XB33

3. % BX33

4. % XB37

Question Number : 2 Question Id : 54062623266 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3 foar T B, Ford @ U Ue g 21 fau T fawen & ¥ 98 9l fawed 9T, St 3igehd o T B

LP35, 0S41,RV47,UYS53,?
Options :

1. # XB44

2. ¥ XB33

3. # BX33



4. % XB37

Question Number : 3 Question Id : 54062623267 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
After arranging the given words according to dictionary order, which word will come at ‘fourth’ position?

1. LOADS
2. LAKES
3. LEMON
4. LANDS
5. LEASE

Options :

1. * LAKES
2. % LOADS
3. ¥ LEMON
4. % LANDS

Question Number : 3 Question Id : 54062623267 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f3T 71U Y3l ) MDY & TR TR HRA & YT, DI 1 Teg T I TR ST

1. LOADS
2. LAKES
3. LEMON
4. LANDS
5. LEASE

Options :

1. % LAKES
2. % LOADS
3. ¥ LEMON
4. % LANDS




Question Number : 4 Question Id : 54062623268 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, select the odd word from the given alternatives.
Options :

1. #* Cup

2. ¥ Pencil

3. % Spoon

4. # Fork

Question Number : 4 Question Id : 54062623268 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferRad us  feu e fasbedl # 9 favs Teg o1 gHT|
Options :

1. % U

2.« TR

3. % JHd

4. ® Pe

Question Number : 5 Question Id : 54062623269 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, four pairs are given. The letters on left side of () is related to the letters on the right side of (—) with some
Logic/Rule/Relation. Three are similar on basis of same Logic/Rule/Relation. Select the odd one out from the given alternatives.

Options :

1. ¥ YER — XBO
2. % PLA-0JX

3. % MES-LCP

4. % GAZ-FYW

Question Number : 5 Question Id : 54062623269 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

TRfermuuy® IR gERT Tl () P IR 3R e TR 31aR (1) & il 3R & T ster F fopdt /o ey @ Sefdd g1 = St
TS doh/aH/AeY & STYR TR G0 g | U T8 fawed § § fawy &1 gu|

Options :

1. ¥ YER - XBO

2. % PLA -0JX

3. % MES - LCP

4. # GAZ -FYW

Question Number : 6 Question Id : 54062623270 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, select the odd letter/letters from the given alternatives.
Options :

1. # KMQY

2. % SUYG

3. % ZBFN

4. ¥ VXAK

Question Number : 6 Question Id : 54062623270 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferfad uy o fau e fasedt & 4 faww ser/siarl o1 gl
Options :

1. ® KMQY

2. % SUYG

3. # ZBFN

4. ¥ VXAK

Question Number : 7 Question Id : 54062623271 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related letters from the given alternatives.

LOBG : PSFK :: ABMG : ?
Options :

1. # EFQL

2. ¥ EFQK

3. ¥ EEQK

4. ¥ EEQL

Question Number : 7 Question Id : 54062623271 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fRafeRad vy @ fau e famedl O @ Tefid sierl & gl

LOBG : PSFK :: ABMG : ?
Options :

1. ¥ EFQL

2. ¥ EFQK

3. % EEQK

4. % EEQL

Question Number : 8 Question Id : 54062623272 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related letters from the given alternatives.

MOND : WMLN :: ROPL : ?
Options :

1. ¥ OKMI

2. % MKLI

3. % OKLI

4. % OLKI



Question Number : 8 Question Id : 54062623272 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faferiRad oy & fau e fawedl & O Hafdd s1eRi &1 giHu|

MOND : WMLN :: ROPL : ?
Options :

1. ¥ OKMI

2. % MKLI

3. % OKLI

4, % OLKI

Question Number : 9 Question Id : 54062623273 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related letter pair from the given alternatives.

GREA : KIIZ :: ?
Options :

1. ¥ LAND : PZSW
2. % HOME : LSQI
3. ¥ READ : [IZH
4. ¥ LOPK : PLTP

Question Number : 9 Question Id : 54062623273 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRad vy & foT 77T fowedl § 9 e sfeR g &l gHu|

GREA : KIIZ :: ?
Options :
1. % LAND : PZSW



2. % HOME : LSQI
3. % READ : [IZH
4.+ LOPK : PLTP

Question Number : 10 Question Id : 54062623274 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘PAGANTI’ is written as ‘INAGAP’. What is the code for ‘FIATES’ in that code language?
Options :

1. ¥ SETAIF

2. # SEATIF

3. % SETIAF

4. ¥ SEFAFI

Question Number : 10 Question Id : 54062623274 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T fAfR1E BIs UTWT H, ‘PAGAND BT ‘INAGAP’ ToRal ST § 1 $H BIS UINT H ‘FIATES® &1 HIS HT 52
Options :

1. ¥ SETAIF

2. ® SEATIF

3. ¥ SETIAF

4. % SEFAFI

Question Number : 11 Question Id : 54062623275 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘AMENDS’ is written as ‘GPKQJV’. What is the code for ‘EQUITY" in that code language?
Options :

1. # KTLABZ

2. % KTLAZB

3. ¥ KTALBZ



4. ¥ KTALZB

Question Number : 11 Question Id : 54062623275 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T fAfRP B HIWT H, ‘AMENDS’ & ‘GPKQJIV’ foRaT SITdT 81 59 IS HINT H ‘EQUITY’ &1 B FIT 82
Options :

1. ¥ KTLABZ

2. % KTLAZB

3. % KTALBZ

4, ¥ KTALZB

Question Number : 12 Question Id : 54062623276 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘ACROSTIC’ is written as ‘KPZXWYIF’. What is the code for ‘NITROGEN” in that code language?
Options :

1. % VLOSAZTM

2. % VLAZTMOS

3. ¥ VLZAMTOS

4. ¥ VLMTZAOS

Question Number : 12 Question Id : 54062623276 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U ARy HIs UM &, < ACROSTIC® BT ‘KPZXWYIF’ foRaT SITdT 81 39 IS UINT § ‘NITROGEN® &1 IS T 52
Options :

1. ¥ VLOSAZTM

2. ¥ VLAZTMOS

3. # VLZAMTOS

4. ¥ VLMTZAOS



Question Number : 13 Question Id : 54062623277 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘GIBLET’ is written as ‘KNCKZP’. What is the code for ‘UNFAIR’ in that code language?
Options :

1. #* IRORDE

2. % IRORED

3. % IRRODE

4. ¥ IRROED

Question Number : 13 Question Id : 54062623277 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T fafR1y s W H, ‘GIBLET’ &I ‘KNCKZP’ foRaT SITd 81 39 $I€ UINT H ‘UNFAIR® &1 HIS T 52
Options :

1. # IRORDE

2. % IRORED

3. ¥ IRRODE

4. ¥ IRROED

Question Number : 14 Question Id : 54062623278 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A team of three boys is to be selected from amongst six boys P, Q, R, S, T and W. P and W have to be selected together. S and T have to be
selected together. W and R cannot be in the same team. Which of the following is a possible team of three boys?

Options :

1. % P,Qand R
2. % S, Tand W
3. % P,Rand W
4. S, Tand R



Question Number : 14 Question Id : 54062623278 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BEASHI P, Q,R, S, TAN W H I T TSHI Bl Th CH TN T gl PAAT W BT AI A AT ST €1 S TUT T I AR T AT ST g | W T
R UM A # 781 81 Iobd ¢ | Fufafaa & @ o1 < 5 aeo! &t T IHa AH 82

Options :

1. # P QQYUTR

2. % S TAAW

3. % PRAYTW

4. ¢S, TAUTR

Question Number : 15 Question Id : 54062623279 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Eight students A, B, C, D, E, F, G and H are sitting around a circular table facing towards the centre (not necessarily in the same order). B is
second to the right of D. F is third to the left of D. C is second to the left of A. F is second to the right of A. G is third to the right of E. Three of
the following are similar by a certain logic and forms a group. Which of the following does not belong to that group?

Options :
1. ®* DC
2. ¥ EA
3. % CB
4. % EF

Question Number : 15 Question Id : 54062623279 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BB A, B,C, D, E, F, G AUTHHE BT 3R T HXP U GAIHR ol & 3¢-116, 96 gU & (SR -Tal Bt 38 HHH BN B, D & gl 3R
GRVYMEREIF,D P I ARAMVAREI C, A P T RGN VARG F, A B Gl ARG VMR | G, EH Gl 3R R
R R g1 Fafafed 3 3 3 ve ol ad 3 Jaftd § aur te 998 9910 8 | Fafafed 3 3 oF 91 39 99 3 gefrd 78t 32
Options :

1. % DC

2. ¥ EA




3. % CB
4. % EF

Question Number : 16 Question Id : 54062623280 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

6 persons A, B, C, D, E and F likes one pen from P1, P2, P3, P4, P5 and P6 (not necessarily in the same order). No two persons like same pen. A
likes either P3 or P6. C likes P2. E likes a even numbered pen. F and D likes odd numbered pen.

Which of the following statement(s) is/are not correct?
I. B likes a even numbered pen.
II. F likes P3.

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 16 Question Id : 54062623280 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

6 M A, B, C, D, ETUTF &I P1, P2, P3, P4, P5 AT P6 T I U HaH THG § (SR 1ol &I 341 hH A 8| Pl o Y crfadl &) v
%mﬂmﬂﬁ%l A DI ITA P3 TTP6 THG 81 C I P2 UHES g1 E I JH TBT dTeit helH UHS g1 F 9UT D h! fAwH T3 arel had Ude
|

frafeed I A 319 918 HuH 9g Tel /82
1. B & 99 T dTell pad Yo 2
1. F &1 P3 UUS g

Options :

1. % Had 1
2. % HAAII
3. ¢ 1 UGl
4. % qEIIATR I




Question Number : 17 Question Id : 54062623281 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

6 boys A, B, C, D, E and F likes one car from C1, C2, C3, C4, C5 and C6 (not necessarily in the same order). They also like one bike from B1,
B2, B3, B4, B5 and B6 (not necessarily in the same order). No two boys like same car and same bike. C likes B3 and a even numbered car. A
don’t like a even numbered car. B and E likes odd numbered bikes. D likes B2 and C4. B likes a even numbered car having number less than 6.

Which of the following statement(s) is/are correct?
I. If A likes C5, then E will like C1.

II. If A likes B4, then F will like B6.

II1. B can like BS.

Options :

1. * Tand III

2. % I, II and III
3. * Only I
4. % Il and 111

Question Number : 17 Question Id : 54062623281 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

6 TSP A, B, C, D, ETUTF C1, C2, C3, C4, C5 TUT C6 H J Th R UHE B 3 (SR 1ol &1 541 A H 81 3 B1, B2, B3, B4, B5 AUTB6
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6 T HY TS &1, JH TJT a7l HR IS 7
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Options :

1. % [qUTII

2. % 1[I QUTIII
3. % Had I11




4.« 11 dYUT T

Question Number : 18 Question Id : 54062623282 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Nine players P, Q, R, S, T, U, V, W and X are sitting around a circular table facing towards the centre (not necessarily in the same order). S is
third to the left of W. Q is second to the right of W. P is fourth to the left of T. T is second to the right of S. R is third to the right of W. X is not
the immediate neighbour of S. V is not the immediate neighbour of T.

Which of the following statement(s) is/are correct?
I. U is second to the left of W.

II. T is to the immediate right of U.

III. P is to the immediate left of R.

IV. S is fourth to the left of Q.

Options :

1.¥ TandII

2. % Iland III

3. % I, 1l and I1I
4. % 11, Il and IV

Question Number : 18 Question Id : 54062623282 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T RIS P, Q, R, S, T, U, V, W TUT X $% B! 3R T B Uh JRTPR ASl & 301716 8¢ §U & (SR 78] B W AT BN 1 S, W & &t
IRTMBVAREIQ, WP T RGN VHAWREIP, TH I AR AIRMAWEI T, S P Rl 3R g ™M WG R, W & a3
TR VAR X, S BT Fbcad USRI T 81 v, T BT Rdbead sk T8 21

Prffad & 9 S 918 $uT g8l /e
LU W& T RGN VARG

IL T, U % qRd el 3R g

II. P, R & g¥d 9 3R g

IV. S, Q & a1 3R A WH R |

Options :
1.¥ TdUTII




2. % YT
3. % 1 [ dYT I
4. % I T YT IV

Question Number : 19 Question Id : 54062623283 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:
I. Some E are R.
II. No His E.

Conclusions:
I. Some H are E.
II. Some R are not H.

Options :

1. % Only conclusion I follows

2. % Only conclusion II follows

3. ¥ Both conclusions I and II follows

4. % Neither conclusion follows

Question Number : 19 Question Id : 54062623283 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
9 foU T Uy ¥ 58 U 3R 3D 918 31 Bl IR SR & (shs U MU | AT Tyl &I 9! 4, 31e 374 AH 1 a2t
3 forzrar 81t e o oik fsR fReifa & i fou o o 3 s, fou U wyi & SR &R gfaasa g

HY: %
L ST E, R QI
11. o HtH, E T8 8

.




L $S H,EQI

I. $D R, H Tl ¢ |

Options :

1. % $Had FT5HY [ 3FIERU Hdl §

2. ¥ HAd [SHY 11 IR0 Hl &

3. % G (FIShY [ T 11 SFJAR0T 6’ &
4. % 1S 1t Freepef SreR0r el R @

Question Number : 20 Question Id : 54062623284 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:
I. Some L are H.
II. NoRis L.

Conclusions:
I. Some H are L.
II. Some R are H.

Options :

1. ¥ Only conclusion I follows

2. % Only conclusion II follows

3. ¥ Both conclusions I and II follows

4. % Neither conclusion follows

Question Number : 20 Question Id : 54062623284 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T feu T Uy H 53 HUT 3R I dIe 3 HYA W 3NURd $3 Fpy 3T 7w B fou Ty &1 I8 7F, TR S 9 91d )
I i 811§ e U SR iR Freifa &% o 3T e o @ fepd, 3T 0 o & 3R R gfaaed g




DHY: %
LPS L, HEI
L3S R, LRI

fsp:
L PGS H LG
L. $S R, HEI

Options :

1. ¥ Had FhY | SFIER0T el §
2. % Had (BN [1 IR0 Hl §
3. % G FIShY [ T 11 SFJAR0T Rl &
4. % I U FIsHY SR T8I HraT @

General Ability2
Group Number : 2
Group Id : 540626907
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
General Ability2
Section Id : 5406261154
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20



Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 5406261374
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 54062623285 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:
I. All cat are lion.
II. No peacock is cat.

Conclusions:

I. All lion are cat.

II. All peacock are lion.
III. All cat are peacock.

Options :

1. * Only conclusion I follows

2. ¥ Neither conclusion follows

3. #* Both conclusions II and III follows

4. * All conclusion follows

Question Number : 21 Question Id : 54062623285 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 foU T Uy T 58 U 3R 39D 918 31 Bl R SR & (shs U MU | 3T Tyl &1 9! 4, 91e 374 AH J1d a2t
Y oz 81t feeedf o oiR fRR fReifa &% i fou o o1 3 s, fou U wyi & SR &R gfaaa g

DHY:




1. g4t foeett, AR B
1. BT it AR, focett T8 2

AP

L. g+ 2R, focch B
1. 94 AR, ;R B
11, g4t foeeht, AR
Options :

1. % Had FpY | SFIER0T Rl §

2. ¢ BIS Wt FIepy SrgERy T el 8
3. % G FISRY 11 TUT 111 SRR Hd §
4. % 1} FIsh Y SFIRRUI R §

Question Number : 22 Question Id : 54062623286 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:

I. No X is C.
II. No Fis W.
III. No W 1s X.

Conclusions:

. NoCisF.

II. Some X are F.
III. Some C are W.

Options :

1. ® Both conclusions II and III follows
2. % All conclusion follows

3. #® Both conclusions I and III follows

4. % Neither conclusion follows



Question Number : 22 Question Id : 54062623286 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T fau T Uy H @ U 3R I 918 31 HUHI IR YN & 56y 3T T4 § | 3T T H2= &1 981 aM, 918 S8 Qg J1d 9
3 frzrar 811t e o oik fisR fReiia & i fou o o1 @ fse, fou U sy & smuR &R gfaaa g

HY:

1. ®is Wt x, c T8I

1. s i E, w8l
1L & T w, X T8 81

fep:
L3R W c, FAgi gl
I. $3 X, F gl

L. $S C, Wl

Options :

1. % I fISh 11 T 111 3FIERUT 63l &
2. % it Frsh s SrRRUT Rl §

3. % G FIShY [ T 11 T8R0T B §
4.« 13 U FIh Y SRR T8 HraT §

Question Number : 23 Question Id : 54062623287 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:

I. All M are G.

II. AIl F are M.
III. All L are G.

Conclusions:
I.NoLisF.



II. No L is M.
III. Some G are M.

Options :

1. # Both conclusions II and III follows
2. # Both conclusions I and II follows
3. # Only conclusion II follows

4. % Only conclusion III follows

Question Number : 23 Question Id : 54062623287 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T 3T T Uy & 8 U 3R 3% 918 31 HUHI IR AUING & 56y 3T T4 § | 3T T 1 & 981 A, 918 S8 Qg I 9
3 frzrar 81t e o ofik fsR fReifa & i fou o o 3 s, fou U syl & smuR &R gfaasa g

DHY:

LI M, GBI
1.9 E, MBI
L gyt L, G g1

fsepy:

1.®Ig WL, F 8l 8

1L &1 off L, MR B

1. $& G, M g

Options :

1. % Q! FSBY 11 T 111 SRR A &
2. % QI FISHY [ YT 11 3FAR0T 6’ §
3. % $Haq fISHY 11 3ITRUI Rl §
4.« Had DY 111 TRV FHRT §

Question Number : 24 Question Id : 54062623288 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the number which can be placed at the sign of question mark (?) from the given alternatives.



1
6
-

| ]
-

Lh| L
0| =

Options :
1. ® 10
2. % 12
3. % 16
4. 98

Question Number : 24 Question Id : 54062623288 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAaferiRad oy o fau e faewel & 9 uy g (2) & RIM WR 3 dTell S=A1 1 g

1
6
-

| ]
-1

| L
|

Options :
1. % 10
2. % 12
3. % 16
4. % 8

Question Number : 25 Question Id : 54062623289 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A series is given with one term wrong. Select that wrong term from the given alternatives.

11,22,10,24,7,28,2,34,—- 6,42, — 14
Options :



1. = 22
2.% 10
3.% 24
4.9 -6

Question Number : 25 Question Id : 54062623289 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3gepd fear mar ], o § v e 7Tad g | fou e faswent §f 9§ 39 ed ug & gHu|

11,22,10,24,7,28,2,34,- 6,42, — 14
Options :

1. % 22

2. %10

3. % 24

4. ¥ —6

Question Number : 26 Question Id : 54062623290 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If “+> means ‘+’, ‘+” means ‘+’°, ‘X’ means ‘-’ and ‘—” means ‘x’, then which of the following equation is correct?
Options :

1. % 57+19-5>12+45-5+3

2.9 21 -8+21x5>12-12x43

3.% 7-18%x21+23<11x32+8

4. % 13x21+7>78+13+21x12

Question Number : 26 Question Id : 54062623290 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
UG+ BT 3+, > BT 3 4, x> 1 31 > qYT < 1 3 < BN, Al Fgferad § @ i 1 wHienRor el 62

Options :



l.* 57+19-5>12+45-5+3

2.9 21 -8+21x5>12-12x43
3.% 7-18x21+23<11x32+38
4, % 13x21+7>78+13+21 x12

Question Number : 27 Question Id : 54062623291 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related number pair from the given alternatives.

512:64::?
Options :

1. # 734:81
2.% 729 :81
3. % 733:85
4, % 739:87

Question Number : 27 Question Id : 54062623291 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafefad us § fau 7 fawedi § O Hefda e gm o gfAu|

512:64::7?
Options :

1. % 734 :81
2.9 729 :81
3. % 733:85
4. % 739 :87

Question Number : 28 Question Id : 54062623292 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify the diagram that best represents the relationship among the given classes.



Doctor, Lawyer, Teacher
Options :

<y

&

00
O

@o

Question Number : 28 Question Id : 54062623292 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

98 3R AT S i foU U ol & o9 & ddY &1 et g Har g

Rfe®, abid, e
Options :

Qo




2. ¥

@o

Question Number : 29 Question Id : 54062623293 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many chairs are neither fan nor table?

18 4\{Fan
13 T

9
/
Table 6 |
Chair
Options :
1. %8

2. %4



3.% 10
4. ¥ 6

Question Number : 29 Question Id : 54062623293 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forert SRl 1 o dar 8 11 81 AT 82

B

18 [ 3~
12 e

AF
[ &t

Options :
1. % 8
2.% 4
3.% 10
4. ¥ 6

Question Number : 30 Question Id : 54062623294 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many bat are not red?



Options :
1. % 18
2.% 6
3. % 30
4. ¥ 21

Question Number : 30 Question Id : 54062623294 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

EREERNINE IR

EirA 10 6

27

N
7

Options :
1. % 18



2.%6
3. % 30
4.9 21

Question Number : 31 Question Id : 54062623295 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Based on the given diagram, which of the following statement(s) is/are correct?

Paper

N

13( 4 8 )19)
S

Book

I. Number of cars which are book and paper both, are 8.
II. Total number of paper are 61.

Options :

1. % Only I

2. % Only II

3. % BothIandII
4. ¥ Neither I nor II

Question Number : 31 Question Id : 54062623295 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T Y SR & YR IR, Fofifad & Q & 91/ U 98l /82



\ (ﬁh)a |
S

s |

1. 98 HR ol &I U HTTSI G 6, B ST 8 § |
1. BT B Hol TS 61 ¢ |
Options :

1. ¥ Had I
2. % Had Il
3. % [ QYT gHl
4. % I IAB I

Question Number : 32 Question Id : 54062623296 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Based on the given diagram, which of the following statement(s) is/are not correct?

Green




I. Number of white which are green, are 7.
II. Number of brown which are not green, are 8.

Options :

1. % Only I

2.% Only II

3. # BothIand II
4. ® Neither I nor I

Question Number : 32 Question Id : 54062623296 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f3T T SR & YR IR, Fofifad & &1 9rd HuT 98 T8 8782

3T U
/X
/(>
e,
11

. I8 The SN e 8, I I= 7 5
II. 98 R eI 8, P T8 B |
Options :
1. % ®Bad I
2. ¢ Had I
3. % [ QYT ISl

4. % ATBIIATSIII



Question Number : 33 Question Id : 54062623297 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the figure which can be placed at the sign of question mark (?) from the given alternatives.

oK K] | 7

oK
%

Options :

Question Number : 33 Question Id : 54062623297 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fRafeRad vy @ fau e fawedl O 9 Uy fg (2) & RIM R 3 drelt 3Hihfd &1 gl

oK 1K K K |-




Options :

Question Number : 34 Question Id : 54062623298 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, select the odd figure from the given alternatives.
Options :

]




3.¢

0

Question Number : 34 Question Id : 54062623298 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fraffad uy o, fau e fasedt & 4 favw siepfd &1 9T

Options :

[l

3.¢



Question Number : 35 Question Id : 54062623299 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the odd figure from the given alternatives.
Options :

X

L)
W




Question Number : 35 Question Id : 54062623299 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferad ws ), fau 7 fawed o 9 fawm sifa &1 gl

Options :
1. #
2. ¥
3. %
o
k 4
4, %

Question Number : 36 Question Id : 54062623300 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which answer figure will complete the pattern in the question figure?



Q
PARE.
YV

0
J

Options :

1. ® N
2. ¢ l
3. % <
4. % A

Question Number : 36 Question Id : 54062623300 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DI T IR ATHIA U 3BT & Ufaey & - Hh?



Q
PARE.
YV

0
J

Options :

1. ® N
2. ¥ l
3. % <
4. % A

Question Number : 37 Question Id : 54062623301 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which answer figure will complete the pattern in the question figure?



l}

Options :

=S
[

1. ¥

]
.« DL

n

B

Question Number : 37 Question Id : 54062623301 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DI T IR ATHIA U 3Mpfd & Uiy o G i



l}

Options :

=S
[

1. ¥

]
.« DL

n

B

Question Number : 38 Question Id : 54062623302 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which answer figure will complete the pattern in the question figure?



o RO
O50

Options :

e

Question Number : 38 Question Id : 54062623302 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DI I IR MBI UY MBI & UfeRed DI TR B2



o RO
O50

Options :

Question Number : 39 Question Id : 54062623303 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A piece of paper is folded and punched as shown below in the question figures. From the given answer figures, indicate how it will appear when
opened?



v ....... "
s Ht-u seas H BERAER ._:_

Options :

°cno
O
o0

oo

o
=)

1.¢

Question Number : 39 Question Id : 54062623303 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T & Uy Sl H fuTT SHAR SIS & AISH we- aul Wi & a1 98 [y SR P ol @S g




Options :

°cno
O
o0

oo

o
=)

1.¢

Question Number : 40 Question Id : 54062623304 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If a mirror is placed on the line AB, then which of the answer figures is the right image of the given figure?




:

s
N

!

<

|
N

¢

4
it

/]

3. %

et

/]

4. ¢

Question Number : 40 Question Id : 54062623304 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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General Awarenessl1
Group Number : 3
Group Id : 540626908
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
General Awareness1
Section Id : 5406261155
Section Number : 1

Section type : Online



Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 5406261375
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 54062623305 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is located in Himachal Pradesh.

Options :

1. # Golkonda fort

2. ¥ Kangra fort

3. % Warangal fort

4. ¥ Kumbhalgarh fort

Question Number : 41 Question Id : 54062623305 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
 RAmauew A fyd gl
Options :

1. % Madpel far

2. ¢ ST fbett

3. % R fobell

4. % HYATG bl

Question Number : 42 Question Id : 54062623306 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Kathakali dance belongs to the state of
Options :

1. % Uttar Pradesh

2. ¥ Kerala

3. # Maharashtra

4. # Qdisha

Question Number : 42 Question Id : 54062623306 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HYBHAT JAT I § I B
Options :

1. % WU

2. ¢ B

3. % AGRIY
4. % IS

Question Number : 43 Question Id : 54062623307 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pair of instrument — type is/are correct?

I. Sushira Vadya — Nadaswaram
II. Avanaddha Vadya — Damru

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 43 Question Id : 54062623307 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fafiyd o 9§ a9 - TSR &1 D H 1 g 81 8/87

1. iR aTe — AGEaRH
1. 3G d1E - SHE

Options :

1. % Had 1
2. % Had Il
3. [ QYT I gl
4. % I I

Question Number : 44 Question Id : 54062623308 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following festival belongs to Uttrakhand?

I. Khatarua
I1. Phool Dei

Options :

1. * Only I

2. % Only II

3. % Both I and II
4. # Neither I nor II

Question Number : 44 Question Id : 54062623308 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFoffed & ¥ o 91 digR STRIES I 9sfdd g2

[. ddsdl
1. Bd ag
Options :

1. ® Had 1




2. % Had Il
3.« 1 QYT I Sl
4. % qIEITAIB I

Question Number : 45 Question Id : 54062623309 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

With reference to GDP figures, base year is the year whose prices are being used to calculate the
Options :

1. ¥ Real GDP

2. % GNP

3. % NNP

4. ¥ Nominal GDP

Question Number : 45 Question Id : 54062623309 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SIS & sfidps! & TeH H, smuR af ag avf & oI qeal #13UANT I AT & forg fsan Sran g
Options :

1. ¢ arkifdeh Siigll

2. % Siedl

3. % TEl

4. % TG Steiul

Question Number : 46 Question Id : 54062623310 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When was the Industrial Policy Resolution (IPR) adopted in India?
Options :

1. % 1960

2. %1950



3. ¥ 1956
4. % 1965

Question Number : 46 Question Id : 54062623310 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HRA H 3N i Uara (3MSTISIR) e U=t 747 1?2
Options :

1. % 1960

2. % 1950

3. ¥ 1956

4. % 1965

Question Number : 47 Question Id : 54062623311 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a closed economy, there are three sources of demand for domestic goods. Which of the following is one of them?
Options :

1. # Savings

2. # International expenses

3. % Government spending

4. # Net exports

Question Number : 47 Question Id : 54062623311 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 8¢ forawn e axgell #t A & AT Ad 8ld 8| Fafa A s s A s 32
Options :

1. % §dd

2. % SRITH T

3. ¢ WHRI Y



4. % g frafd

Question Number : 48 Question Id : 54062623312 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement(s) is/are NOT correct about depreciation with reference to accounting?

I. It is the cost of the goods divided by number of years of its useful life.
II. It is an annual allowance for wear and tear of a capital goods.

Options :

1. % Only I

2. % Only II

3. % BothIandII
4. ¥ Neither I nor II

Question Number : 48 Question Id : 54062623312 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frafifad sy/euE 8 @ oF 1A dgie & Jad & qeagrg & IR 7 IE 6 2122

1. T8 9% P! ANTd ¢ o 39 Iuarft auif & fauiford & ot ]
1. I8 U YoilTTd ag3fi & gen-Te ol e {8 |
Options :

1. % $Had 1

2. % Had Il

3. % [ 3RS

4. AL ATAN

Question Number : 49 Question Id : 54062623313 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement(s) is/are NOT correct regarding Open Market Operations?



I. RBI purchases or sells government securities to the general public in a bid to increase (or decrease) the stock of high powered money in the
economy.
II. When RBI buys a Government bond in the open market, it pays for it by giving a cheque.

Options :

1. % Only I

2. % Only II

3. % BothIandII
4. ¥ Neither I nor II

Question Number : 49 Question Id : 54062623313 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FAfiRId BY/BYU H ¥ B AR Gol II9R UR=Te & aR H 981 161 8/8?

I. 3RS srfaraeyt & SMURYJ ¢- & Wid P! S (1 HH) B & ol 3TH ST F BRI Ufayferdl ! Wie a1 faeh! a3
I1. OSSR ol TOR & WP 918 Wil §, 1 98 IP oSBT YA Rl 5|
Options :

1. % Had |

2. % Had Il

3. % [ 3R SH
4. AL AT

Question Number : 50 Question Id : 54062623314 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Bile juice is secreated by

Options :

1. # Large Intestine

2. % Liver

3. % Food pipe

4. # Kidney



Question Number : 50 Question Id : 54062623314 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
o < GRI TaTad gl G|
Options :

1. ® ggaia

2. ¥ ghd

3. % YIS el

4. % T[af

Question Number : 51 Question Id : 54062623315 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement is/are correct?

I. Isotope of uranium is used in treatment of goiter.
II. Isotope of cobalt is used in treatment of cancer.

Options :

1. % Only I

2.% Only II

3. % BothIandII
4. ¥ Neither I nor II

Question Number : 51 Question Id : 54062623315 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefad # @ &1 /8 Y 98l 8/8?

. R0 & Th RIS BT START &1 I & FaTol o fore foran S ]
11, PIITee P U JARITHD BT STANT HIR & SUIR A BT g

Options :

1. % Had 1

2. ¥ Had Il




3. % 1dUT I Sl
4. % qTEIIATRIII

Question Number : 52 Question Id : 54062623316 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pair is/are correct?

I. Asexual reproduction — Fertilisation
II. Sexual reproduction — Spore formation

Options :

1. % Only I

2. % Only II

3. % Both I andII
4. ¥ Neither I nor II

Question Number : 52 Question Id : 54062623316 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifad 7 3 o1 91/8 gm 98l o/8?

1. 31 S - v

1. A S+ - faratmoy fFmfor
Options :

1. % dhad |

2. % Had Il

3, % [ YT EHl
4.« ATBIIATBII

Question Number : 53 Question Id : 54062623317 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pair is/are correct?



I. Convex mirror — object at infinity — image virtual and erect
II. Concave mirror — object at C — same sized image

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 53 Question Id : 54062623317 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrofafed & 9 oH 918 g 98 8/6?

1. 399 U1 — foq 3d WR — nyRf qur dyr ufafss
I1. 3fddd Ul — fde ¢ IR — g 915w ufafde
Options :

1. % Had |
2. % Had Il
3. ¢ 1 AU Gl
4. % qEIIATR I

Question Number : 54 Question Id : 54062623318 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which continent produces more than half of the world’s tin?
Options :

1. # Europe

2. ¥ Asia

3. # North America

4. % South America



Question Number : 54 Question Id : 54062623318 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B 1 HETaU fay BT oY ¥ 31 o7 Iaured el 82
Options :

1. % QR

2. TRAT

3. % IR ARBI

4. % 0T SR

Question Number : 55 Question Id : 54062623319 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
India has a land boundary of about km.
Options :

1. % 13700

2. % 15200

3. % 11300

4. % 16800

Question Number : 55 Question Id : 54062623319 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR Bt RIS T T T fos . g
Options :

1. % 13700

2. % 15200

3. % 11300

4. % 16800

Question Number : 56 Question Id : 54062623320 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

The northern plains of India are about km long.
Options :

1. ® 3100

2. % 1200

3. % 2400

4. % 2000

Question Number : 56 Question Id : 54062623320 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YRA & IR TG AT for 1. @9 g1
Options :

1. % 3100

2. % 1200

3. % 2400

4. % 2000

Question Number : 57 Question Id : 54062623321 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Stratosphere extends up to a height of km.
Options :

1. * 100

2. % 20

3. % 60

4. 50

Question Number : 57 Question Id : 54062623321 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
THATIHSE AT for . 1 ST 9% B g




Options :
1. % 100
2. %20
3. % 60
4.9 50

Question Number : 58 Question Id : 54062623322 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is/are tributary of Indus?

1. Zaskar
II. Nubra
III. Shyok

Options :

1. % Tand II
2.9 1, Il and III
3. % Only I

4. % Il and III

Question Number : 58 Question Id : 54062623322 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafefed o 9 o Riy 74 &1 S Tfedl g2

[. SfThR

IL. TRT
11, 6

Options :

1. % 14Ul
2.9 LI dYTIII
3. % Bad 11

4. % T dUT I



Question Number : 59 Question Id : 54062623323 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is the Indo-European language.

Note: For this question, discrepancy is found in question/answer. So,this

question is 1gnored for all candidates.
Options :

1. Hindi

2. Marathi

3. Gujarati
4. Sanskrit

Question Number : 59 Question Id : 54062623323 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

 YRA-GRUG YT |
Note: For this question, discrepancy 1s found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. fo=dl

2. IRI31

3. ORI

4. T¥pd

Question Number : 60 Question Id : 54062623324 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Jyotirao Phule was born in which year?



Options :
1. * 1829
2. % 1827
3. % 1828
4. % 1826

Question Number : 60 Question Id : 54062623324 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SACRTE Bol BT 57 b au H g3 U1
Options :
1. * 1829
2.9 1827
3. % 1828
4. = 1826

General Awareness2
Group Number : 4
Group Id : 540626909
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No

General Awareness2
Section Id : 5406261156



Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 5406261376
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 54062623325 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which day is known as ‘Direct Action Day’?
Options :

1. * 16 November 1947

2. % 26 January 1946

3. ¥ 16 August 1946

4. % 15 August 1950

Question Number : 61 Question Id : 54062623325 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S I faT ‘Ue Srdars feaqr & U H ST SraT 82
Options :

1. % 16d%R 1947

2. % 26 TFARY 1946

3. ¢ 16 3R 1946

4. % 15 3T 1950

Question Number : 62 Question Id : 54062623326 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement(s) regarding Manuscripts is/are correct?

I. These were usually written on palm leaf.
II. These books dealt with the subjects like religious beliefs and practices.

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. # Neither I nor II

Question Number : 62 Question Id : 54062623326 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefad 7 3 o9 91/8 Sy Ag8py & Jaul 7 It /80

1. 98 UT: d18 U= R fordt St ot

I1. 39 o # ¢1ffes Argaraf 3R sgagRi o fawdl ot =i e ]
Options :

1. % Had I

2. % HAd Il

3. ¢ 1 AU Gl

4. % qEIIATE I

Question Number : 63 Question Id : 54062623327 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year Sher Khan defeated Humayun at Chausa?
Options :

1. % 1529

2.9 1539

3. % 1525



4, % 1533

Question Number : 63 Question Id : 54062623327 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fore aef & IR W A g B I H g U1
Options :

1. % 1529

2. % 1539

3. % 1525

4, % 1533

Question Number : 64 Question Id : 54062623328 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who is the author of the book ‘The Ickabog’?
Options :

1. ¥ J K. Rowling

2. # Ruskin Bond

3. % John Sandford

4. % Leone Ross

Question Number : 64 Question Id : 54062623328 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fp e g HTEIT & AP B 72
Options :

1. ¢ S, A3

2. % P SIUg

3. % O Yshle

4. % {19



Question Number : 65 Question Id
Orientation : Vertical

: 54062623329 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
Who is the world’s fastest human calculator as on September 2021?

Options :

1. ¥ Raman Bhatti

2. ¥ Yaashwin Sarawanan

3. ¥ Neelakantha Bhanu Prakash
4. * Nihal Sarin

Question Number : 65 Question Id
Orientation : Vertical

: 54062623329 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25

RydeR 2021 B, oy BT T IS AT HAPCR DI 62

Options :

1. % I YISt

2. % YRGH IO

3. ¢ DS UM U

4. % T9gTa WA

Question Number : 66 Question Id
Orientation : Vertical

: 54062623330 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
The North Atlantic Treaty Organization (NATO) headquarters is located in

Options :
1. % Ttaly
2. ¥ Belgium
3. # Germany

4. % France

Question Number : 66 Question Id

: 54062623330 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

3R Sfedifed Y T () FTgead @y
Options :

1. % gdl

2. ¢ SAforgH

3. % ST

4. % 1Y

Question Number : 67 Question Id : 54062623331 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who has won the NYIPLA 2021 Inventor of the year award?

I. Christos Kyratsous
II. George D. Yancopoulos

Options :

1. % Only I

2. % Only II

3. % BothIand II
4. #® Neither I nor II

Question Number : 67 Question Id : 54062623331 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U915, 318 GL.UA.T & 2021 $JCX 31 & TR REBR & faordl S g2

1. fopeei forre
I1. SIfSt 1. Ty

Options :
1. % PHadl
2. % Had II



3. 13U 11 Sl
4. % qIEIIATSIII

Question Number : 68 Question Id : 54062623332 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sushant Singh Rajput passed away in June 2020, his first movie was
Options :

1. # Kedarnath

2. % Kai Po Che

3. % M.S. Dhoni: The Untold Story

4. # Detective Byomkesh Bakshi

Question Number : 68 Question Id : 54062623332 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

=1 g Torgd &1 e 2020 A gom, ITd ugan gat ot
Options :

1. % DHARAY

2. Y FRUD

3. % THTY. gHT: {3 sicis €

4. % f&fded BT dfRT

Question Number : 69 Question Id : 54062623333 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who has been announced as the brand ambassador for Redmi 9 power?
Options :

1. ¥ Sonu Sood

2. % Akshay Kumar

3. % Katrina Kaif



4. % Mary Kom

Question Number : 69 Question Id : 54062623333 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TSH 9 UTaR BT 908 SfreiwsR ford ity fopam T g2
Options :

1. ¥ A ga

2. % &Y PHR

3. % HARAT B

4. % A B

Question Number : 70 Question Id : 54062623334 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which Indian state government has launched country’s Ist ever ‘FIR Aapke Dwar Yojana’?
Options :

1. # Rajasthan

2. ¥ Madhya Pradesh

3. ¥ Himachal Pradesh

4. ¥ QOdisha

Question Number : 70 Question Id : 54062623334 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR B! [l Iod IRPR A G ! gl THIHEIHR AP GR AIoHT Al DI 62
Options :

1. # ST/

2. ¢ AL YT

3. % fgAmQ uew

4. % 3pfeEm




Question Number : 71 Question Id : 54062623335 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Nobel Prize in Chemistry 2021 is given for the development of which of the following?
Options :

1. ¥ Development of asymmetric organocatalysis

2. % Evolution of human kind

3. % Lithium-ion batteries

4. ¥ Cryo-electron microscopy

Question Number : 71 Question Id : 54062623335 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2021 BT HHRE BT Add RIBR Fafred § ¥ fewe forg fear mar g2
Options :

1. ¢ ST SRAIB AR BT fab

2. % TAITGRM 1P AT BI3S

3. % fARgH-3ifgT dedi

4. % P3G HISHIRBIUT

Question Number : 72 Question Id : 54062623336 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which article of the Indian Constitution deals with council of ministers to aid and advise President?
Options :

1. % 70

2. % 71

3.9 74

4. % 75

Question Number : 72 Question Id : 54062623336 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR AU BT BIF AT SRS AP B Tgradm o & fore i ufe & Taifdra 32
Options :

1. ® 70

2. % 71

3.¥ 74

4. %75

Question Number : 73 Question Id : 54062623337 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which article of the Indian Constitution deals with Appropriation Bills?
Options :

1.¥ 114

2. % 112

3. % 111

4. %= 110

Question Number : 73 Question Id : 54062623337 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR HAUT BT S 1 e faf-anT fadas 4 et 82
Options :

1.¥ 114

2. % 112

3. % 111

4. % 110

Question Number : 74 Question Id : 54062623338 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following statement(s) regarding article 361 of the Indian Constitution is/are correct?

I. No criminal proceedings what so even shall be instituted or continued against the President or the Governor of a state in any court during his
term of office.
II. No process for the arrest or imprisonment of the President or the Governor of a state, shall issue from any court during his term of office.

Options :

1. % Only I

2. % Only II

3. % Both I and I
4. #® Neither I nor II

Question Number : 74 Question Id : 54062623338 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad # 9 & 91 YT YR U™ & rwe 361 & deH J T8l 82

L Wﬁ?ﬁ%%(lﬂ%ﬂ%ﬁ@& 3G yarafy & SR fbelt ey # fodl ft bR o1 aifss sridre! SiRid =gl &1 st
RIS |

1. FYfal 1 fob et 16U & ISAUT B UGTa & SR IHD! FREIRY 1 SRIaT & forg ot =rarera @ 18 S1afRrepT Febredt 781 wmeet |
Options :

1. % FHadl
2. % Had Il
3. ¢ 1 AU Gl
4. % qIGIIATRIII

Question Number : 75 Question Id : 54062623339 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year did the Twentieth amendment of the Indian constitution took place?
Options :

1. * 1962

2. % 1964

3. % 1968



4. ¥ 1966

Question Number : 75 Question Id : 54062623339 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR WG &1 dial Jene oo as o gaim U1
Options :

1. % 1962

2. % 1964

3. % 1968

4. ¥ 1966

Question Number : 76 Question Id : 54062623340 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which two teams played in the ICC World Test Championship final in 2021?
Options :

1. ¥ India and New Zealand

2. % India and Australia

3. % India and England

4. # England and Australia

Question Number : 76 Question Id : 54062623340 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2021 7 3175, . . fay e IMBF=R™ B & o1 9 & S Wl
Options :

1. ¥ YR 3R ollc's

2. % YR 3R Sfecferan

3. % YR 3R 08

4. % 3018 3R 3fTefer



Question Number : 77 Question Id
Orientation : Vertical

: 54062623341 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
Which country will host the 2022 Asian Games?

Options :

1. # Thailand
2. % China

3. # Japan

4. % Indonesia

Question Number : 77 Question Id
Orientation : Vertical

: 54062623341 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25

2022 TRMATS T Bt ASTE DI IT S BT

Options :
1. % Uos
2. ¢ T
3. % MU=

4. % FZMARMA

Question Number : 78 Question Id
Orientation : Vertical

: 54062623342 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
Who won the men’s single title at 2021 Australian Open?

Options :

1. # Stefanos Tsitsipas
2. # Daniil Medvedev
3. % Novak Djokovic
4. # Rafael Nadal

Question Number : 78 Question Id

: 54062623342 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

2021 3T 34 § goul o1 Uhd faare fba- sfidre
Options :

1. % WHHAN f&faa

2. % TIfAd Agded

3. ¢ AP SihIidd

4. % qhd TSI

Question Number : 79 Question Id : 54062623343 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which team finished at 3rd place in the medals tally in 2020 Summer Olympics (played in 2021)?
Options :

1. % USA

2. ® QGreat Britain

3. % Russia

4. ¥ Japan

Question Number : 79 Question Id : 54062623343 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2020 YSHBTEH 3l (2021 & Wa 1) & Ued drfardT # TR R R S It & o
Options :

1. * g Uq U

2. % Yo fgea

3. ¥ =Y

4. % WU

Question Number : 80 Question Id : 54062623344 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Which of the following team is NOT a part of ISL 2020-21?

I. ATK Mohun Bagan
II. JCT

Options :

1. % Only I

2.9 Only II

3. % BothIandII
4. # Neither I nor II

Question Number : 80 Question Id : 54062623344 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefead & ¥ o O 1 38 T9.Td. 2020-21 &1 fe&T 781 82

1. T & &. Higd aFTH
I o, 9. <.

Options :

1. % Had |

2. ¢ HAd I

3. % [ QYT
4. ® AT

Arithmetic Abilityl

Group Number : 5

Group Id : 540626910
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No



Break time : 0
Group Marks : 20
Is this Group for Examiner? : No

Arithmetic Abilityl

Section Id : 5406261157
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 5406261377
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 54062623345 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the value of 13 x4+ 8 +5x2+6-5+15+2 x 3?
Options :

169

1.« 6

179

2. % 11

159
3 % 3



Question Number : 81 Question Id : 54062623345 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
13x4+8+5%x2+6-5+15+2x3PIAA R G?
Options :

169
1. 6

179
2. % 11

159

=
ﬂ
o

Question Number : 82 Question Id : 54062623346 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement(s) is/are correct?

1. 999 is the largest three digit which is exactly divisible by both 9 and 11.
II. Largest number which can exactly divide both 403 and 465 is 93.

Options :
1. % Only I



2. % Only II
3. % Bothland II
4. « Neither [ nor 11

Question Number : 82 Question Id : 54062623346 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraffEd 3 3 19 918 HuF 98 8780

. 999 I8 T 3! B! TaY TS BT 8, ST 9 T4T 11 &1 4 gofa: fauiiord g
I1. 93 I8 T TS YA §, SI 403 TUT 465 P! guUia: fAHTRTT = bl o |
Options :

1. % Had |

2. % Had I

3. % [ UGl

4. TBIIATRII

Question Number : 83 Question Id : 54062623347 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

N is that largest three digit number which when divided by 5, 6 and 7 leaves remainder 1 in each case. What is the sum of the digits of N?
Options :

1. % 12

2.¥ 13

3.% 14

4. % 15

Question Number : 83 Question Id : 54062623347 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

N dF 3! &t 98 Jad Tt T/ &, O 5, 6 a1 7/ FaHTRTg 37 R 7des fUfG H Auhd | 3Mar g1 N & 3ih! &1 a1 T 82

Options :



1. * 12
2.¥13
3.% 14
4. % 15

Question Number : 84 Question Id : 54062623348 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

4 b 4 5 ¥ 35 4
: —of —+—+ —of —+—x—
What is the value of 7 6. 2 L H 33 59
NOE I
—+—of -+ —x—+—
2 5 5 49386 32

Options :
1842
| 5005

1736

5 % 3003
1842
3 % 7007

Question Number : 84 Question Id : 54062623348 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Options :
1842

| & 5005

1736
« 3003

1842
3 % 7007

1652

4 % 5005

Question Number : 85 Question Id : 54062623349 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement(s) is/are correct?

i i el el e % o0
e e

M
o_2 4 4 _20

12113341 29
4" 4 4




Options :

1. % Only I

2.9 Only II

3. % Both I andII
4. # Neither I nor II

Question Number : 85 Question Id : 54062623349 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Foffad # 3 &1 /8 Y 98l 8/8?

i 6wl e 5 50
T RS R

g
o 2 4 420
bl gl 29
4 g 4
Options :
1. % $had |
2. ¥ Had I
3. % [qUT G

4. % BB I

Question Number : 86 Question Id : 54062623350 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If 20a + 20b = 140, then what is the average of a and b?
Options :

1. % 4

2.9 35

3.% 55



4. %25

Question Number : 86 Question Id : 54062623350 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fE 20a + 20b = 140 8, Tl a TUT b BT A HIT &7
Options :

1. % 4

2.¥35

3.% 55

4. % 25

Question Number : 87 Question Id : 54062623351 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

An item is sold for Rs. 1035 after two successive discounts of 25 percent and 8 percent. What is the marked price of the article?
Options :

1. ¥ Rs. 1500

2. % Rs. 1400

3. % Rs. 1600

4. % Rs. 1800

Question Number : 87 Question Id : 54062623351 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP I B 25 Ta=Td qUT 8 UfI=Id &1 & it e o & TYTd 1035 UL B 51 71 § | a¥g BT Sifohd Yoo 1 52
Options :

1. ¥ 1500 00

2. % 1400 3YY

3. % 1600 TYY

4. % 1800 3T



Question Number : 88 Question Id : 54062623352 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A shopkeeper purchased a chair whose marked price is Rs. 4800, at two successive discount of 10 percent and 20 percent. If he sells the chair for
Rs. 3974.4, then what is the profit percentage?

Options :

1. # 12 percent
2. % 15 percent
3. % 8 percent
4. % 20 percent

Question Number : 88 Question Id : 54062623352 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP GHMER Uh HUf forgT siford Yo 4800 FU &, T 10 U= T 20 UfA=Id &) &) i g R Tliear 31 afe 98 Sl &l 3974.4
Fqﬁrﬁéw% 0 Ay wf=Td g2

Options :

1. % 12 gfaerd
2.+ 15 Ufaed

Question Number : 89 Question Id : 54062623353 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which number is 10 percent less than 50 percent of 300?
Options :

1. # 125

2. % 130

3.9 135

4. % 146



Question Number : 89 Question Id : 54062623353 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I AT 300 B 50 Y= H 10 Y= HH g2
Options :

1. ® 125

2. % 130

3.9 135

4. % 146

Question Number : 90 Question Id : 54062623354 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If 34 percent of N + 15 percent of 945 = 25 percent of 635, then what is the value of N?
Options :

1. % 500

2.9 50

3.%5

4. % 100

Question Number : 90 Question Id : 54062623354 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IS N BT 34 UIIRIT + 945 BT 15 WA=Id = 635 BT 25 U= &, A N BT HH T 57
Options :

1. % 500

2.9 50

3.%5

4. % 100

Question Number : 91 Question Id : 54062623355 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Naman’s income is 50 percent more than the Chaman’s income. Chaman’s income is 25 percent more than the Vimal’s income and Vimal’s
income is 20 percent less than the Nitin’s income. If income of Nitin is Rs. 16000, then what is the income of Naman?

Options :

1. # Rs. 22000
2. % Rs. 24000
3. % Rs. 20000
4, % Rs. 25000

Question Number : 91 Question Id : 54062623355 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T D1 T, TAT D1 3T T 50 U= NTH g1 THT 1 31T faHd Bt 3 F 25 ufa=ia ifdies g aut fawa &) ema fRfaa o1 sma ¥ 20
yfa=rd ®H g1 afe R &Y 31T 16000 TUT B, A 757 B 3T R 82

Options :

1. % 22000 30
2. ¥ 24000 3T
3. % 20000 3T
4. % 25000 3T

Question Number : 92 Question Id : 54062623356 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Every day Tarun sells 75 percent of his fruits and 12 percent of the remaining fruits get spoilt during the night. If total 27 fruits got spoil on the
first night, then how many fruits did Tarun sell on the first day?

Options :
1. % 600
2. % 650
3. % 750
4. % 675



Question Number : 92 Question Id : 54062623356 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T B & 3 Tdl &1 75 Ta=Id Sard § aul A9 Bl & 12 Uia<id Jd & gad TR1d 81 o ¢ | afe Tgel Id $d 27 T WRIE 81 T 9,
Il a7 Ugd feA fooa v o A2

Options :
1. * 600
2. % 650
3. % 750
4. ¥ 675

Question Number : 93 Question Id : 54062623357 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A man buys 15 pens for a rupee (cost price of each pen is same). How many pens should he sell (selling price of each pen is same) for a rupee to
earn a profit of 25 percent?

Options :
1. ® 10
2.% 14
3.9 12
4. % 16

Question Number : 93 Question Id : 54062623357 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP Afdd | T H 15 HAH WS (TS HH BT T e A 8) 81 25 UARd &1 oy HHMA & o I 1 398 A fha-t Had St
(UAH HAH BT [Ahd Yoo T §) AMeT?

Options :

1. % 10

2. % 14

3.9 12

4. % 16




Question Number : 94 Question Id : 54062623358 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Mahesh earns profit of Rs. 34 by selling an article for Rs. 84. What is the profit percentage?
Options :

1. # 58 percent

2. % 78 percent

3. #® 72 percent

4. ¥ 68 percent

Question Number : 94 Question Id : 54062623358 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

oY U a%] Bl 84 ¥UY T dOHR 34 TY &1 A1 ST & | ATH Wia=Td o1 82
Options :

1. % 58 Tfcr=rd

2. % 78 Ufa=Ia

3. % 72 gfa=a

4. ¥ 68 Ufc=Id

Question Number : 95 Question Id : 54062623359 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

While selling a table for Rs. 2214, a person suffered a loss of 40 percent. At what price he should have sold the table to earn a profit of 20
percent?

Options :

1. % Rs. 4568
2. ¥ Rs. 4428
3. % Rs. 4816
4. ® Rs. 4624



Question Number : 95 Question Id : 54062623359 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH Ao 1 2214 T9Y H o9 IR U Afdd Dl 40 U= D1 8T g3 | 20 UTA=Id BT A1 HHM & (o8 34 A B! fhd Yoo WR 971 1Y
Y

Options :

1. % 4568 30

2. ¥ 4428 30U

3. % 4816390

4. % 4624 %09°

Question Number : 96 Question Id : 54062623360 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ankit buys 14 shirts and 7 watches for Rs. 3500. He sells watches at a profit of 20 percent and shirts at loss of 30 percent. If his overall profit is
Rs. 350, then what is the sum of the cost price of one shirt and one watch?

Options :

1. # Rs. 240
2. % Rs. 550
3. ¥ Rs. 600
4. ¥ Rs. 450

Question Number : 96 Question Id : 54062623360 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3ifrd 14 HHT U1 7 T3} 3500 U & TSI & | 98 ISt B 20 U B TTH TR JUT HHS o1 30 Ufawd o1 g7 R o= g1 afe
IGHT A AT 350 T &, 1 T HHIS 9UT U I8! & Hd Hed BT AT &1 82

Options :

1. % 240 ¥

2. % 550 30T

3. % 600 3YY

4. ¥ 450 30




Question Number : 97 Question Id : 54062623361 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The ratio of incomes of Manoj and Paras is 12 : 7. If Paras gets Rs. 4000 less than Manoj, then what is the total income of Manoj and Paras?
Options :

1. ¥ Rs. 15200

2. % Rs. 9600

3. # Rs. 5600

4. % Rs. 4000

Question Number : 97 Question Id : 54062623361 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TIIoT T ORY B 3T BT U 12 : 7 5| A TRY B FAIST ¥ 4000 T0T HH U 81 €, o AN 94T URY &1 Ha 3T fohe1 82
Options :

1. ¢ 15200 30
2. % 9600 TYY
3. % 5600 $9Y
4. % 4000 3TY

Question Number : 98 Question Id : 54062623362 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
IfA:B:C=2:3:5and C:D=3:4, then what is the value of A : D?
Options :

1. % 3:8

2.% 3:7

3.93:10

4.%9:10

Question Number : 98 Question Id : 54062623362 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

GEA:B:C=2:3:5dUTC:D=3:4%, A :DBTHAFTT&?
Options :
1.% 3:8
2.% 3:7
3.¢3:10
4. % 9:10

Question Number : 99 Question Id : 54062623363 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a 49 litres mixture the alcohol and water are in the ratio of 3 : 4 respectively. 14 litres of mixture is taken off and replaced with 14 litres of
water. What is the new ratio of alcohol and water respectively?

Options :

1.%15:34
2. % 34:15
3. % 15:31
4. % 17:35

Question Number : 99 Question Id : 54062623363 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

49 e & U (Y1 T e led aUT UTHT b1 30T ST 3 ¢ 4 ] 1 14 Tiex o1 &1 fAera foran Sirar g @t 14 diex U S1d fear sar 8|
Teb 1<l qUT Ut T ShHT: 74T UTd T 82

Options :

1.v 15:34

2. % 34:15

3. % 15:31

4.% 17:35

Question Number : 100 Question Id : 54062623364 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What will be the simple interest on a principal of Rs. 4400 for 4 years at the rate of 16 percent per annum?
Options :

1. # Rs. 3240

2. ¥ Rs. 2816

3. % Rs. 2472

4. % Rs. 2284

Question Number : 100 Question Id : 54062623364 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

4400 ¥ o TAYT TR 4 TN & T 16 Ufa=ra ufaas 1 &3 I JIURT 1T T g1

Options :
1. % 3240 30
2. ¥ 2816 3
3. % 2472 %W
4. % 2284 T0Y

Arithmetic Ability2
Group Number : 6
Group Id : 540626911
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20

Is this Group for Examiner? : No



Arithmetic Ability2

Section Id : 5406261158
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 5406261378
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 54062623365 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the compound interest for 1 year on a sum of Rs. 15000 at the annual rate of 40 percent compounding half yearly?
Options :

1. ¥ Rs. 6600

2. % Rs. 6700

3. % Rs. 6500

4. % Rs. 6300

Question Number : 101 Question Id : 54062623365 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

15000 ¥U BT T MR TR 40 U= B AMMH a2 F Srefa1tes TaoH W 1 T &1 Tehdia SaTo T 62
Options :

1. ¢ 6600 3T
2. % 6700 3YY
3. % 6500 39T
4. % 6300 3T9Y



Question Number : 102 Question Id : 54062623366 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The amount received on a certain principal after 2 years and 4 years on compound interest (compounding annually) is Rs. 8640 and Rs. 12441.6
respectively. What is that principal?

Options :

1. # Rs. 5000
2. % Rs. 9000
3. ¥ Rs. 6000
4. # Rs. 7000

Question Number : 102 Question Id : 54062623366 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U YT gaea w2 a9 9uT 4 a9 & gy Ihgfs s (@ier TaieH UR) TR T foeam T fHyem HHRT: 8640 TUY 9UT 12441.6 YA |
98 AU 1 82

Options :

1. % 5000 9T

2. % 9000 Y

3. ¢ 6000 ¥UY

4. % 7000 ST

Question Number : 103 Question Id : 54062623367 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A bike travels from X to Y at the speed of 20 km/hr and from Y to X at speed of 40 km/hr. What is the average speed of the bike?
Options :

1. ¥ 80/3 km/hr

2. % 30 km/hr

3. % 25 km/hr

4. % 92/3 km/hr



Question Number : 103 Question Id : 54062623367 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS S5 X A Y, 20 {1 /Aer ol nfa A aur vy T x, 40 fo #Y /gier ot i T I Bl 8 | 915 b1 3G Tfd &1 82
Options :

1. ¢ 80/3 fop 1. et

2. % 30 fop 4t /eer

3. % 25 fop ot /et

4. % 9273 fop #t reder

Question Number : 104 Question Id : 54062623368 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A truck left 2 hours later than the scheduled time but in order to reach its destination 480 km away in time, it had to increase its usual speed by 12
km/hr. What is the usual speed of the truck?

Options :

1. # 30 km/hr
2. % 42 km/hr
3. # 54 km/hr
4. ¥ 48 km/hr

Question Number : 104 Question Id : 54062623368 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP ¢ U iR T 9§ 2 62 Bt &0 Fvadr § Afd 480 fob 1. R 3197 Tidey I R 90T ¥ UgaH & o 39 o=t I Tifq
¥ 12 o 7t /der Bt gfg Bt US| T bl g I R 82

Options :

1. % 30 fop. 1 /&icT

2. % 42 fo it der

3. % 54 fob 4t /et

4. 48 T i /5icT




Question Number : 105 Question Id : 54062623369 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A scooter runs at a speed of 42 km/hr after repairing and runs at speed of 36 km/hr before repairing. It covers a certain distance in 3 hours after
repairing. How much time will it take to cover the same distance before repairing?

Options :

1. * 5/2 hours
2. % 7/2 hours
3. %* 9/2 hours
4. * 11/2 hours

Question Number : 105 Question Id : 54062623369 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T Tpex TR BIM & 916 42 fob 1t /der ) 1fd J el & a1 TRWd BH 9 Uga 36 b 1t /der & ifd § =reldl 8 | 7RAId o’ & 918
I8 U (YA g3 &I 3 °9¢ & 79 HRl1 ¢ | FRIA BRI 3 Ugd T8 THM Gul Dl 0 B3 H o1 9 oo

Options :

1. % 5274

2.¥ 72 6C

3. % 9 e

4. % 1129

Question Number : 106 Question Id : 54062623370 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A can do a work in 30 days. What percent work of the total work can be done by A in 18 days?
Options :

1. * 37 percent

2. * 30 percent

3. % 60 percent

4. * 55 percent



Question Number : 106 Question Id : 54062623370 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ATH B D130 TG A IR TDH A1 51 18 el & A GRI $d BRI BT fova1 Uf=d S foban o1 Aaval 572
Options :

1. # 37 gfa=rd

2. ® 30 yfd=d

3. ¥ 60 Ufd=rd

4. % 55 gfaerd

Question Number : 107 Question Id : 54062623371 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

C is four times as efficient as D. C takes 63 days less than D to complete a work. If both of them work together, then in how many days will the
same work be completed?

Options :

1. ¥ 16.8 days
2. % 12.4 days
3. % 18.2 days
4. % 21.4 days

Question Number : 107 Question Id : 54062623371 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

C, D Y IR THI HIFHIA 8| C T B &I R HA A D ¥ 63 fo w0 A g1 3 3 SH1 Fda & o 7, 9 90 & foaq a1 o
ORI Bl ST
Options :

1. 168 fam
2. % 12411
3. % 182 A
4. % 214f&F




Question Number : 108 Question Id : 54062623372 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P and Q together can do a work in 90 days. Q and R together can do the same work in 60 days. P starts the work and works on it for 24 days and
then leaves. After him Q takes up the work and works for 42 days and then leaves. Finally R finishes the remaining work in 57 days. In how
many days can Q alone complete the entire work?

Options :

1. #* 100 days
2. ¥ 180 days
3. #® 225 days
4. % 150 days

Question Number : 108 Question Id : 54062623372 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P AT Q HcTpR U BRI &bl 90 f&l H R Tobd &1 Q TUT R A I &1 &l 60 Tl H B Thd &1 P B RH BT ¢ T 24 fei ab
BT BT g YT OB Tal1 ST 8 | ISP 91 Q T D1 o T & qUT 42 & b B0 Har g auT bR Iar Srar g1 3idd: R A9 HrRf & 57
T ¥ R HRAT 81 Q 3ihal Igui B Bl fam ol H [T R Ihel1 82

Options :

1. % 100 faq

2. ¢ 180 faA

3. % 225 faq

4. % 150 fam

Question Number : 109 Question Id : 54062623373 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Side of a cube is 3 cm. What is the total surface area of cube?
Options :

1. ¥ 54 cm?

2. % 36 cm?



3. % 45 cm?
4. % 63 cm?

Question Number : 109 Question Id : 54062623373 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TS G- &1 Yol 3 9.1, B 1 99 H1 $of IR a1 82

Options :

1.¥ 54 QM2
2. % 36912
3. % 45 QW12
4. % 63712

Question Number : 110 Question Id : 54062623374 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ABCD is a square with side 6 cm. E and F are mid points of DC and AD respectively. What is the area of the shaded portion?

A B

D E C
Options :
1. # 6.14 cm
2.9 7.07 cm
3. % 743 cm
4. % 6.29 cm

NS R S S

Question Number : 110 Question Id : 54062623374 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

ABCD T 6 4.1, YT arell a7 g | E 9T F AR DC TUT AD & U fog € | Siford & &7 85 d 1 82

A B

D E C
Options :

1. % 61492

2. ¢ 7.079.H 2

3. % 743972

4. % 62072

Question Number : 111 Question Id : 54062623375 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A chord of length 40 cm is drawn in a circle having diameter 50 cm. What is the minimum distance of other parallel chord of length 30 cm in the
same circle from 40 cm long chord?

Options :

1. % 20 cm
2. % 15cm
3. 5¢cm

4. % 10 cm

Question Number : 111 Question Id : 54062623375 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP 50 .7, 1 aTel g & 40 T, TSTE o1 TP Sitar Wi oirdlt g 1 6 g H 40 .4, Twars arell Sfidr ¥ U 3 JHMIAR SfiaT forges
TS 30 Q.41 B, Bt gAdH g3 faal 82



Options :

1. % 209
2. % 1599
3. 59
4. % 1094,

Question Number : 112 Question Id : 54062623376 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A solid cylinder is surmounted by a solid cone. Radius of cylinder is 14 cm which is equal to the radius of cone. If height of cylinder is twice of
its base radius and height of cone is thrice of its base radius, then what will be the total volume of the solid vessel?

Options :

1. % 32124 cm?
2. % 28554 cm?>
3. % 21424 cm®
4.+ 25872 cm?

Question Number : 112 Question Id : 54062623376 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3N 9T &) U 31 AP W &1 T 5 | 9 B Bl 14 S, 5, O AP B BIsh & sRIeR 81 AfE oe B Salls I YR B
a1 31 G § TUT TP B SHdTs SUD YR DI 01 Bt AT 8, T 31 S DT S1ad- ol g

Options :

1. % 32124 QA1 3
2. % 28554 Q.HI3
3. % 21424 Q.13
4. 25872 9.1 3

Question Number : 113 Question Id : 54062623377 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The table given below shows the amount of the rainfall on 7 consecutive days in a town.

Days | Amount of rainfall
D1 45
D2 56
D3 109
D4 116
D5 32
D6 18
D7 40

What is the total rainfall received by the town on these 7 days?
Options :
1. ¥ 416
2. % 409
3. % 425
4. % 433

Question Number : 113 Question Id : 54062623377 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

42 & 173 difcreT T TeR A 7 HHNTT fol ot auf ot 7E &l gwiid g

= asr fr #AmEr
D1 45
D2 56
D3 109
D4 116
D5 32
D6 18
D7 40




2 7 o o weR & o fovat ool Uil 88 2
Options :
1. ¥ 416
2. % 409
3. % 425
4. % 433

Question Number : 114 Question Id : 54062623378 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The table given below shows the cost of 4 packs of two different DTH services.

Pack Cost of Pack
DTHI1 DTH2

P1 418 396

P2 532 568

P3 402 364

P4 624 608

A = average cost per pack for DTH1 and B = average cost per pack for DTH2.
What is the value of A — B?

Options :
1. %7
2.¥10
3. % 12
4. % 15

Question Number : 114 Question Id : 54062623378 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

=itar &1 718 arferept & fafier S1.8.we. Janail & 4 Uehl & Hedl 1 a8



S U FT HoT
Sr.érTel | Erdr T
P1 418 396
P2 532 568
P3 402 364
P4 624 608

A =31 AT. | HTUR TP 3 Jeg 9UT B = S1.1.T4. 2 &1 Ufd U 3d 1|
A-BHTAFRTG?

Options :

1. %7

2.¢ 10

3.% 12

4. % 15

Question Number : 115 Question Id : 54062623379 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The table given below shows the area under cultivation and the production for 5 different crops.
Yield = Production/Area under cultivation.

Cultivationarea | Production
1 400 14100
C2 520 17800
23 360 9600
C4 480 21000
C5 600 11800

What is the correct order of yield for the given 5 crops?
Options :
1. ® C4>C1>C2>C5>C3



2. ® C4>C2>C1>C5>C3
3. ¥ C4>C1>C2>C3>C5
4, % C4>C2>C1>C3>C5

Question Number : 115 Question Id : 54062623379 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

#@?ﬁﬂéﬂﬁ%&ﬂsﬁﬁziuﬂﬁﬁ%ﬂ%uqﬁﬁwaaa?nnsaﬂaqaﬁamﬁﬁ%l

3T = IdTGH
FHOETT &F | 3AEA

1 400 14100

C2 520 17800

C3 360 9600

C4 180 21000

C5 600 11800
3 TE 5 BUd & forT IUS BT TG HH T 82
Options :

1. # C4>C1>C2>C5>C3
2. % C4>C2>C1>C5>C3
3. ¥ C4>C1>C2>C3>C5
4. # C4>C2>C1>C3>C5

Question Number : 116 Question Id : 54062623380 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The pie chart given below shows the amount of 6 different nutrients in a food item. The amount of each nutrient is shown as a percentage of total
amount of these 6 nutrients.



Which of the following statement(s) is/are correct?
I. The total central angle made by N1 and N4 is 36 degrees less than the total central angle made by N2 and NS5.
II. If N2 is 36 grams more than N6, then the total amount of nutrients is 350 grams.

Options :

1. % Only I

2. % Only II

3. % Both I andII
4. ¥ Neither I nor II

Question Number : 116 Question Id : 54062623380 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T fear e ot fot U e v 7 6 fafis Ui Il &1 0T &1 a=idl 6 | Td UINed dad &1 A1 &1 34 6 GINH ddl &1 o A &
Ufi=Id & ¥9 J G T 8|




FrafaRad o 9 SF 91/8 $U ol 6/5?
I N1 TT N4 GRT §11 71 S BH41d HI0T N2 TUT NS GRT TG T F Hatd v Y 36 M FAR|
I1. A& N2, N6 ¥ 36 T 3 , a1 U Il &1 Hdd AT 350 TH |

Options :

1. ¥ Hadl
2. % Had Il
3. % [qUT el
4. % 1B

Question Number : 117 Question Id : 54062623381 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The bar graph given below shows the number of books of 6 subjects.



110
85 o4

70

Number of books

36

S1 S2 S3 S4 S5 S6
Subjects

What are the total number of books of S2, S4, S5 and S6?
Options :
1. ® 463
2. % 431
3. % 459
4.9 471

Question Number : 117 Question Id : 54062623381 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

= foar ma 3us R 6 fawall &1 gt B e Y exiidr ]|



110

36

S1 S2 93 S4 S5 S6
IELE]

S2, S4, S5 TYUT S6 B TKAD| B! Hol T T 82
Options :
1. % 463
2. % 431
3. % 459
4.9 471

Question Number : 118 Question Id : 54062623382 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The bar graph given below shows the percentage increase in the price of a car in 6 consecutive years.
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If the price of car at the end of Y3 is Rs. 20000, then what will be the price of car at the end of Y6?
Options :

1. % 47200

2. % 44800

3. ¥ 45500

4. % 44000

Question Number : 118 Question Id : 54062623382 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 47200

2. % 44800

3. ¥ 45500

4. % 44000

Question Number : 119 Question Id : 54062623383 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The bar graph given below shows the number of cars of two types parked in 5 parking areas.
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Which of the following statement(s) is/are correct?
I. Total number of cars of type 1 are 790 less than the total number of cars of type 2.
II. Ratio of total number of cars of type 2 in P and S to the total number of cars of type 1 in Q and R is 52 : 23.

Options :

1. % Only I

2. % Only II

3. % Both I and I
4. ® Neither I nor II

Question Number : 119 Question Id : 54062623383 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % FHadl

2. % Had Il

3. QYT I gl
4. % qGIIATRIII

Question Number : 120 Question Id : 54062623384 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The bar graph given below shows the runs scored by a batsman in 8 matches.
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Strike rate = Number of runs scored/Number of bowls faced

Which of the following statement(s) is/are not correct?

L. If the number of balls faced in M1, M4, M6 and M8 are 20, 110, 30 and 155 respectively, then ‘M1 > M8 > M6 > M4’ is correct about the
strike rate.

II. Average runs scored per match are 143.75.

Options :

1. % Only I

2. % Only II

3. % BothIandII
4. ¥ Neither I nor II

Question Number : 120 Question Id : 54062623384 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Had 1

2. % Had Il

3. % 1YT I g
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Group Number : 7
Group Id : 540626912
Group Maximum Duration : 0
Group Minimum Duration : 0
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Edit Attended Group? : No



Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
General English1

Section Id : 5406261159

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 5406261379

Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 54062623385 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

The second purpose (1)/ of singing is to (2)/ attract a mate for nesting. (3)/ No error (4)
Options :

1. * The second purpose

2. * of singing is to

3. % attract a mate for nesting.

4. ¥ No Error

Question Number : 121 Question Id : 54062623385 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

The second purpose (1)/ of singing is to (2)/ attract a mate for nesting. (3)/ No error (4)
Options :

1. # The second purpose

2. # of singing is to

3. % attract a mate for nesting.

4. ¥ No Error

Question Number : 122 Question Id : 54062623386 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Sulfuric acid has (1)/ a strong smell yet (2)/ irritates your eyes. (3)/ No error (4)
Options :

1. # Sulfuric acid has

2. % astrong smell yet

3. ¥ irritates your eyes.

4. % No Error

Question Number : 122 Question Id : 54062623386 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Sulfuric acid has (1)/ a strong smell yet (2)/ irritates your eyes. (3)/ No error (4)
Options :

1. % Sulfuric acid has

2. ¥ astrong smell yet

3. % irritates your eyes.

4. % No Error



Question Number : 123 Question Id : 54062623387 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Neither her family (1)/ nor his brother (2)/ are going to the party. (3)/ No error (4)
Options :

1. % Neither her family

2. # nor his brother

3. % are going to the party.

4. ¥ No Error

Question Number : 123 Question Id : 54062623387 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Neither her family (1)/ nor his brother (2)/ are going to the party. (3)/ No error (4)
Options :

1. # Neither her family

2. % nor his brother

3. % are going to the party.

4. % No Error

Question Number : 124 Question Id : 54062623388 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

I, that is your (1)/ manager will never (2)/ leave your side. (3)/ No error (4)
Options :
1. ¥ 1, that is your

2. % manager will never



3. % leave your side.
4. # No Error

Question Number : 124 Question Id : 54062623388 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

I, that is your (1)/ manager will never (2)/ leave your side. (3)/ No error (4)
Options :

1. ¥ 1, that is your

2. % manager will never

3. % leave your side.

4. % No Error

Question Number : 125 Question Id : 54062623389 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

We were surprised to find that modern (1)/ cultivated tomatoes seem most closely (2)/ related to wild-like tomato group in Mexico. (3)/ No error
“4)

Options :

1. # We were surprised to find that modern

2. # cultivated tomatoes seem most closely

3. % related to wild-like tomato group in Mexico.

4. ¥ No Error

Question Number : 125 Question Id : 54062623389 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.



We were surprised to find that modern (1)/ cultivated tomatoes seem most closely (2)/ related to wild-like tomato group in Mexico. (3)/ No error
“4)

Options :

1. # We were surprised to find that modern

2. # cultivated tomatoes seem most closely

3. % related to wild-like tomato group in Mexico.

4. ¥ No Error

Question Number : 126 Question Id : 54062623390 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select No
improvement.

Most of these people has other jobs and obligations.
Options :

1. # has another

2. ¥ have other

3. * had none

4. % No Improvement

Question Number : 126 Question Id : 54062623390 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select No
improvement.

Most of these people has other jobs and obligations.
Options :

1. # has another

2. % have other

3. # had none

4. # No Improvement



Question Number : 127 Question Id : 54062623391 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select No
improvement.

Either her sister and her mother is replying to my messages.
Options :

1. ¥ Neither her sister nor
2. * Not her sister and
3. #* None the sister nor

4. ¥ No Improvement

Question Number : 127 Question Id : 54062623391 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select No
improvement.

Either her sister and her mother is replying to my messages.

Options :

1. ¥ Neither her sister nor
2. # Not her sister and

3. ® None the sister nor

4. ¥ No Improvement

Question Number : 128 Question Id : 54062623392 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select No
improvement.

When you are a police officer, your emotions have to be hidden or pushed up.



Options :

1. # pushed across
2. ¥ pushed down
3. # push off

4. ¥ No Improvement

Question Number : 128 Question Id : 54062623392 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select No
improvement.

When you are a police officer, your emotions have to be hidden or pushed up.

Options :

1. #* pushed across
2. ¥ pushed down
3. # push off

4. % No Improvement

Question Number : 129 Question Id : 54062623393 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select No
improvement.

The metal lair was most cooler than the air above ground.
Options :

1. # was most cooler then

2. # had been more cooler than

3. % was much cooler than

4. # No Improvement

Question Number : 129 Question Id : 54062623393 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select No
improvement.

The metal lair was most cooler than the air above ground.
Options :

1. # was most cooler then

2. # had been more cooler than

3. % was much cooler than

4. ¥ No Improvement

Question Number : 130 Question Id : 54062623394 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select No
improvement.

It is only a matter of time before the hand of the law is lain over us.
Options :

1. ¥ is laid upon

2. % was lay over

3. * has lied on

4. % No Improvement

Question Number : 130 Question Id : 54062623394 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select No
improvement.

It is only a matter of time before the hand of the law is lain over us.
Options :
1. ¥ is laid upon



2. # was lay over
3. % has lied on

4. ¥ No Improvement

Question Number : 131 Question Id : 54062623395 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

Bushfire has the conditions of animals in the forest.
Options :

1. # maintained

2. * refined

3. % surpassed

4. % exacerbated

Question Number : 131 Question Id : 54062623395 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

Bushfire has the conditions of animals in the forest.
Options :

1. # maintained

2. % refined

3. # surpassed

4. ¥ exacerbated

Question Number : 132 Question Id : 54062623396 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.



The chaotic students the whole classroom by throwing papers everywhere.
Options :

1. ¥ dismount

2. % checked

3. ¥ wrecked

4. # glayed

Question Number : 132 Question Id : 54062623396 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

The chaotic students the whole classroom by throwing papers everywhere.
Options :

1. # dismount

2. # checked

3. ¥ wrecked

4. # glayed

Question Number : 133 Question Id : 54062623397 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

Rub the cream on your arm, the mark goes away
Options :

1. ¥ until

2. % still

3. # since

4. % for

Question Number : 133 Question Id : 54062623397 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

Rub the cream on your arm, the mark goes away
Options :

1. ¥ until

2. % still

3. ® since

4. % for

Question Number : 134 Question Id : 54062623398 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

Perhaps my wife had her mother and gone to the hospital.
Options :

1. # calling

2. % calls

3. % call

4. ¥ called

Question Number : 134 Question Id : 54062623398 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

Perhaps my wife had her mother and gone to the hospital.
Options :

1. # calling

2. % calls

3. % call

4. ¥ called



Question Number : 135 Question Id : 54062623399 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

‘Are you okay?’ |
Options :

1. #* asks

2. % said

3. * told

4. ¥ asked

Question Number : 135 Question Id : 54062623399 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

‘Are you okay?’ I
Options :

1. * asks

2. % said

3. * told

4. ¥ asked

Question Number : 136 Question Id : 54062623400 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in correct order.

The time between blooming
P: variety and the climate; for the
Q: and maturing of the fruit varies appreciably with the



R: Arabica it is about seven months, and
S: for the Robusta, about nine months

Options :

1. # QRPS
2. % RPSQ
3. ¥ QPRS
4. % QSPR

Question Number : 136 Question Id : 54062623400 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in correct order.

The time between blooming

P: variety and the climate; for the

Q: and maturing of the fruit varies appreciably with the
R: Arabica it is about seven months, and

S: for the Robusta, about nine months

Options :

1. % QRPS
2. % RPSQ
3. ¥ QPRS
4. % QSPR

Question Number : 137 Question Id : 54062623401 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in the correct order.

P: modern comic books from which these
Q: their precursor: the comic strip

R: prior to the rise of the

S: characters sprung, there was

Options :

1. ¥ RPSQ



2. % RQSP
3. % RQPS
4. % SQRP

Question Number : 137 Question Id : 54062623401 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in the correct order.

P: modern comic books from which these
Q: their precursor: the comic strip

R: prior to the rise of the

S: characters sprung, there was

Options :

1. ¥ RPSQ
2. % RQSP
3. % RQPS
4. % SQRP

Question Number : 138 Question Id : 54062623402 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in the correct order.

At the beginning of

P: the 21st century, Thailand and Myanmar each
Q: employed in traditional roles intermingled

R: with modern use as tourist attractions

S: had about 5,000 captive elephants

Options :

1. # RSPQ
2. ¥ PSQR
3. ¥ SRQP
4. % PQSR



Question Number : 138 Question Id : 54062623402 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in the correct order.

At the beginning of

P: the 21st century, Thailand and Myanmar each
Q: employed in traditional roles intermingled

R: with modern use as tourist attractions

S: had about 5,000 captive elephants

Options :

1. ¥ RSPQ
2. ¥ PSQR
3. % SRQP
4. * PQSR

Question Number : 139 Question Id : 54062623403 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that means the same as the given word.

Valliant
Options :

1. #* Quack

2. ¥ Brave

3. * Violent
4. *= Cowardly

Question Number : 139 Question Id : 54062623403 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that means the same as the given word.



Valliant
Options :

1. # Quack

2. ¥ Brave

3. % Violent
4. ® Cowardly

Question Number : 140 Question Id : 54062623404 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that means the same as the given word.

Abandon
Options :

1. # Reclaim
2. # Release

3. % Unrestraint

4. % Deserve

Question Number : 140 Question Id : 54062623404 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that means the same as the given word.

Abandon
Options :

1. # Reclaim
2. # Release

3. % Unrestraint

4. % Deserve



General English2

Group Number : 8

Group Id : 540626913

Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20
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General English2

Section Id : 5406261160

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 16

Number of Questions to be attempted : 16

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 5406261380

Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 54062623405 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that means the same as the given word.

Validate
Options :
1. % Substantiate



2. # Conjecture
3. % Suspect

4. * Innocuous

Question Number : 141 Question Id : 54062623405 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that means the same as the given word.

Validate
Options :

1. ¥ Substantiate
2. % Conjecture
3. % Suspect

4. % Innocuous

Question Number : 142 Question Id : 54062623406 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that is opposite in meaning to the given word.

Amenable
Options :

1. # Disinclined
2. # Predisposed
3. ¥ Fawning

4. % Ambushing

Question Number : 142 Question Id : 54062623406 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that is opposite in meaning to the given word.



Amenable
Options :

1. # Disinclined
2. # Predisposed
3. ¥ Fawning

4. % Ambushing

Question Number : 143 Question Id : 54062623407 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that is opposite in meaning to the given word.

Indeterminate
Options :

1. ¥ Definite

2. # Nondescript
3. % Airy

4. ¥ Nebulous

Question Number : 143 Question Id : 54062623407 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that is opposite in meaning to the given word.

Indeterminate
Options :

1. ¥ Definite

2. # Nondescript
3. % Airy

4. ¥ Nebulous

Question Number : 144 Question Id : 54062623408 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Choose the word that is opposite in meaning to the given word.

Annihilate
Options :

1. # Phony

2. ¥ Fabricate
3. # Genuine
4. # Recondite

Question Number : 144 Question Id : 54062623408 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that is opposite in meaning to the given word.

Annihilate
Options :

1. # Phony

2. ¥ Fabricate
3. % Genuine
4. # Recondite

Question Number : 145 Question Id : 54062623409 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. # Additon

2. # Adition

3. % Addition

4. #* Addision

Question Number : 145 Question Id : 54062623409 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. # Additon

2. % Adition

3. % Addition

4. # Addision

Question Number : 146 Question Id : 54062623410 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. # Organesim

2. % Organniesm

3. # Organesm

4. ¥ Organism

Question Number : 146 Question Id : 54062623410 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. ¥ Organesim

2. % Organniesm

3. % Organesm

4. ¥ Organism

Question Number : 147 Question Id : 54062623411 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. % Nessecary

2. ¥ Necessary

3. # Necesary

4. ¥ Neccessary

Question Number : 147 Question Id : 54062623411 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. # Nessecary

2. ¥ Necessary

3. % Necesary

4. % Neccessary

Question Number : 148 Question Id : 54062623412 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. # Minusicule

2. # Miniuscule

3. % Minuscule

4. % Muniscule

Question Number : 148 Question Id : 54062623412 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :



1. * Minusicule
2. * Miniuscule
3. % Minuscule

4. % Muniscule

Question Number : 149 Question Id : 54062623413 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Stand on one’s own feet

Options :

1. ¥ To be strong and independent
2. # To survive a deadly disease
3. # To take a wrong side

4. % To work religiously

Question Number : 149 Question Id : 54062623413 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Stand on one’s own feet

Options :

1. ¥ To be strong and independent
2. # To survive a deadly disease
3. # To take a wrong side

4. # To work religiously

Question Number : 150 Question Id : 54062623414 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.



High and dry

Options :

1. #® To starve from hunger

2. % To abandon someone in a difficult situation
3. # A person with no ethical values

4. ® A place with extreme climate

Question Number : 150 Question Id : 54062623414 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

High and dry

Options :

1. # To starve from hunger

2. % To abandon someone in a difficult situation
3. # A person with no ethical values

4. ® A place with extreme climate

Question Number : 151 Question Id : 54062623415 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Hit the hay

Options :

1. # To offer no mercy
2. % To get no result
3. % To go to sleep

4. ¥ To cause an accident

Question Number : 151 Question Id : 54062623415 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Hit the hay

Options :

1. % To offer no mercy
2. % To get no result
3. % To go to sleep

4. % To cause an accident

Question Number : 152 Question Id : 54062623416 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

Instrument that records earthquakes
Options :

1. ¥ Seismograph

2. % Trigraph

3. % Odograph

4. ® Myograph

Question Number : 152 Question Id : 54062623416 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

Instrument that records earthquakes
Options :

1. ¥ Seismograph

2. # Trigraph

3. % Odograph



4. ¥ Myograph

Question Number : 153 Question Id : 54062623417 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

An agent that destroys germs
Options :

1. # Genocide

2. ¥ Germicide

3. % Biocide

4. % Algaecide

Question Number : 153 Question Id : 54062623417 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

An agent that destroys germs
Options :

1. # Genocide

2. ¥ Germicide

3. # Biocide

4. % Algaecide

Question Number : 154 Question Id : 54062623418 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

One who assumes a fake identity to deceive others
Options :



1. # Jester
2. * Joker
3. % Impostor

4. ¥ Impressionist

Question Number : 154 Question Id : 54062623418 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

One who assumes a fake identity to deceive others
Options :

1. # Jester

2. % Joker

3. ¥ Impostor

4. % Impressionist

Question Number : 155 Question Id : 54062623419 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

A person who lends money at exorbitant interest rate
Options :

1. % Usurper

2. ® Usher

3. % Usurer

4. ® Pirate

Question Number : 155 Question Id : 54062623419 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.



A person who lends money at exorbitant interest rate
Options :

1. # Usurper

2. % Usher

3. ¥ Usurer

4. * Pirate

Sub-Section Number : 2
Sub-Section Id : 5406261381
Question Shuffling Allowed : Yes

Question Id : 54062623420 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (156 to 160)
Read the following passage carefully and answer the given questions.

Mongol empire, empire founded by Genghis Khan in 1206. Originating from the Mongol heartland in the Steppe of central Asia, by the late 13th
century it spanned from the Pacific Ocean in the east to the Danube River and the shores of the Persian Gulf in the west. At its peak, it covered
some 9 million square miles (23 million square km) of territory, making it the largest contiguous land empire in world history.

The year 1206, when Temiijin, son of Yesligei, was elected Genghis Khan of a federation of tribes on the banks of the Onon River, must be
regarded as the beginning of the Mongol empire. This federation not only consisted of Mongols in the proper sense—that is, Mongol-speaking
tribes—but also included tribes of Turkish descent.

Before 1206, Genghis Khan was one of the tribal leaders fighting for supremacy in the steppe regions south and southeast of Lake Baikal; his
victories over the Kereit and then the Naiman Turks, however, gave him undisputed authority over the whole of what is now Mongolia.

Having united the steppe tribes, Genghis Khan ruled over some 1 million people. In order to suppress the traditional causes of tribal warfare, he
abolished inherited aristocratic titles. He also forbade the selling and kidnapping of women, banned the enslavement of any Mongol and made
livestock theft punishable by death. Moreover, Genghis Khan ordered the adoption of a writing system, conducted a regular census, granted
diplomatic immunity to foreign ambassadors and allowed freedom of religion well before that idea caught on elsewhere. A series of campaigns,
some of them carried out simultaneously, followed.

All these things majorly contributed to the establishment of Mongol empire.

Sub questions

Question Number : 156 Question Id : 54062623421 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What can be the suitable title for the given passage?



Options :

1. ¥ Origin of The Mongol empire
2. #® Genghis Khan and his orders
3. # Life of Mongols

4. ® Rule of The Mongol Empire

Question Number : 157 Question Id : 54062623422 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

On the banks of which river Yesiigei was elected?
Options :

1. # Baikal River

2. % Onon River

3. % Khanui River

4. ® Danube

Question Number : 158 Question Id : 54062623423 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following provisions is not established by Genghis Khan?
Options :

1. #® Livestock theft was punishable by death

2. #® Adoption of writing system

3. # Conducting a regular census

4. ¥ Countenance to kidnapping of women

Question Number : 159 Question Id : 54062623424 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following words best expresses the meaning of the word ‘forbade’?
Options :

1. ¥ Emanate

2. % Allow



3. % Qutlaw
4, % Authorize

Question Number : 160 Question Id : 54062623425 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Why did Genghis Khan abolish the inherited aristocratic titles?
Options :

1. % To put an end to the traditional causes of tribal warfare.

2. % To restrain the modish causes of traditional warfare in the region.
3. # To combat the war situation in rural areas of Mongol.

4. % To suppress the traditional practices resulting in serenity of the tribal region.

Question Id : 54062623420 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (156 to 160)
Read the following passage carefully and answer the given questions.

Mongol empire, empire founded by Genghis Khan in 1206. Originating from the Mongol heartland in the Steppe of central Asia, by the late 13th
century it spanned from the Pacific Ocean in the east to the Danube River and the shores of the Persian Gulf in the west. At its peak, it covered
some 9 million square miles (23 million square km) of territory, making it the largest contiguous land empire in world history.

The year 1206, when Temiijin, son of Yesiigei, was elected Genghis Khan of a federation of tribes on the banks of the Onon River, must be
regarded as the beginning of the Mongol empire. This federation not only consisted of Mongols in the proper sense—that is, Mongol-speaking
tribes—but also included tribes of Turkish descent.

Before 1206, Genghis Khan was one of the tribal leaders fighting for supremacy in the steppe regions south and southeast of Lake Baikal; his
victories over the Kereit and then the Naiman Turks, however, gave him undisputed authority over the whole of what is now Mongolia.

Having united the steppe tribes, Genghis Khan ruled over some 1 million people. In order to suppress the traditional causes of tribal warfare, he
abolished inherited aristocratic titles. He also forbade the selling and kidnapping of women, banned the enslavement of any Mongol and made
livestock theft punishable by death. Moreover, Genghis Khan ordered the adoption of a writing system, conducted a regular census, granted
diplomatic immunity to foreign ambassadors and allowed freedom of religion well before that idea caught on elsewhere. A series of campaigns,
some of them carried out simultaneously, followed.

All these things majorly contributed to the establishment of Mongol empire.

Sub questions

Question Number : 156 Question Id : 54062623421 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

What can be the suitable title for the given passage?
Options :

1. ¥ Origin of The Mongol empire

2. % Genghis Khan and his orders

3. % Life of Mongols

4. % Rule of The Mongol Empire

Question Number : 157 Question Id : 54062623422 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

On the banks of which river Yesiigei was elected?
Options :

1. # Baikal River

2. % Onon River

3. % Khanui River

4. % Danube

Question Number : 158 Question Id : 54062623423 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following provisions is not established by Genghis Khan?
Options :

1. #* Livestock theft was punishable by death

2. % Adoption of writing system

3. # Conducting a regular census

4. ¥ Countenance to kidnapping of women

Question Number : 159 Question Id : 54062623424 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following words best expresses the meaning of the word ‘forbade’?
Options :



1. ¥ Emanate
2. % Allow
3. % Outlaw
4. ® Authorize

Question Number : 160 Question Id : 54062623425 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Why did Genghis Khan abolish the inherited aristocratic titles?
Options :

1. ¥ To put an end to the traditional causes of tribal warfare.

2. # To restrain the modish causes of traditional warfare in the region.
3. % To combat the war situation in rural areas of Mongol.

4. ® To suppress the traditional practices resulting in serenity of the tribal region.
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Question Number : 161 Question Id : 54062623426 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FEffed @ & SH-91 st Afdaaras I3 82
Options :

1.« gyl

2. % 7Y

3. # Ugls

4. % 3{H

Question Number : 161 Question Id : 54062623426 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FEfRed @ & SH-91 Wsg Afdadras I3 62
Options :

1.« gg-I

2. % 1Y

3. ®* Ugls

4, % 3{H

Question Number : 162 Question Id : 54062623427 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



f3T 77U Treq] T ¥ -1 Wsq Sgdile U 62
Options :

1. ® fAffes

2. % BugA

3. % Y@ifdd

4.« g4

Question Number : 162 Question Id : 54062623427 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f3T 7T Tsal # ¥ HIH-91 Ve Tgdile THN &2
Options :

1. % fARifeq

2. % BAY

3. % Gifobd

4. ¢ U

Question Number : 163 Question Id : 54062623428 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau 7 wreat § ¥ UraTEe IR I BT
Options :

1. % U

2. % W

3. ¢ AR

4. % PS

Question Number : 163 Question Id : 54062623428 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fu U Trsal # I uraTee faRwur 1d S|



Options :
1. % ydd
2. % W
3. ¥ GHR
4. % DY

Question Number : 164 Question Id : 54062623429 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fT T a7y T 370 UG T BT |

R efR-¢R 3 81 T SR e R TS|
Options :

1. % fqwparfediys sfeoy

2. % URUMarEs

3. ¥ SIS

4. % PIIdldD

Question Number : 164 Question Id : 54062623429 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fT 71T IRy BT 37T U JTd BT |

Rt fiR-¢fi¥ 3 gY Tar 3R et fRR TS |
Options :

1. * foupifdated sy

2. % gRUMTHIRIS

3. ¥ GHAGEYD

4. % PpIcIdldD

Question Number : 165 Question Id : 54062623430 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

f3U 17T g T o1 Ta! e I J1d HITOT|

3%d : IS
Options :

1. ¢ RIS : gad
2. % IR ; IBUS
3. % I8U8 : fayr™g
4. % 3y : Yugq

Question Number : 165 Question Id : 54062623430 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f3T 71T Tsg g BT el Wsd T J1d DI

3eGd : IS
Options :

1. ¢ RIS : gad
2. % JIR : 3BV
3. % IBUS : fayrg
4. % a3y . 3Ugd

Question Number : 166 Question Id : 54062623431 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faU 7 21ea! BT T} TH-Trad T1d BT
Options :

1. % Tfgult-udl

2. % G-I

3. ¥ gl&l-ard




Question Number : 166 Question Id : 54062623431 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
few T S} 1 TE TH- e 1 BT
Options :

1. ® Tfgult-udl

2. * G-I

3. ¥ QI&-qTd

1. * R

Question Number : 167 Question Id : 54062623432 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faQ 7T Tree ) I fade I1d pifou|
geafd

Options :

1. ¥ Ug +gfd
2. % Ueg + 3fd
3. % q’c-g+&rf?f
4. % Ug +3fd

Question Number : 167 Question Id : 54062623432 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T U 3reg B T fawde S BTy
geafd

Options :
1. ¥ Ug +gfd
2. % UG + 3ifd



3. % Ug + 3ffd
4. % Ug +3fd

Question Number : 168 Question Id : 54062623433 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fqu 7 It ® gdaiferss fohan I1d feforg |

Options :

1. ¢ HHUS i Jad T

2. % g fUsd gra feuTaeh §i 4@ 3 791
3. % g0 fUad 91 SiaR T

4. % B T TG Tl

Question Number : 168 Question Id : 54062623433 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f&Q 77T aTer H gdepriciep fobar 3T fobfor|

Options :

1. ¥ T HUS U Qo 11

2. % guA fUsa ura feuraett 4@ o 9 518
3. % g0 [Uad 91 SR T

4. % & H T1q T

Question Number : 169 Question Id : 54062623434 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T U T3l H g Id BT T HIT
Options :

1. % JHIST

2. Ui

3. % Gfwef



4, % gHIme

Question Number : 169 Question Id : 54062623434 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f&T 7T wrect § Qg Ikt BT T4 BT
Options :

1. % gHier

2. ¢ utEn

3. % iHem

4. % gHiHef

Question Number : 170 Question Id : 54062623435 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f3T 7T a1 & IUYe eg &1 T B b Nad RIM P il B

‘FREIR P IR TR dl IS ”
Options :
.Y W
2. % gy
3. % M
4. % 2

Question Number : 170 Question Id : 54062623435 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T 77U 916 T IUGS Weg BT 99 IR Rad RIH DI el Do
“gfg TR &b T TR Al UBdT3iil |

Options :

v W




2. % By
3. % JH
4. %

Question Number : 171 Question Id : 54062623436 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau 77U wre &1 faaH e JTd BT

HYH
Options :
1. ¥ 31H
2. %
3. % Y
4. % 3JH

Question Number : 171 Question Id : 54062623436 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau 7T Tsg o1 faT Wsg J1d P

HYH
Options :
1.+ 3dH
2. %
3. % HY
4. % 3JH

Question Number : 172 Question Id : 54062623437 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f&T 7T Trec} H g Ikt BT TG BT



Options :

1. ¢ 3faRe
2. % 3fcRle
3. % 3fiala
4, % AR

Question Number : 172 Question Id : 54062623437 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T U T3l H Y Id BT T HIT
Options :

1. ¢ 3faRe

2. % 3fadlal

3. % 3fialer

4. % 3R

Question Number : 173 Question Id : 54062623438 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faU T Xreq T &1 Ta! Usg JH AT BT
3Fd : 3

Options :

1. % 3T gl

2. % P3Py
3.9 3 . gdl

4. % PHIY : Biod

Question Number : 173 Question Id : 54062623438 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



f3U 17T g T o1 Ta! e I J1d HITOT|
3T : A

Options :

1. % 3T gl

2. % BT . BIY
3.4 3T ;: gdl

4. % BIY : BioA

Question Number : 174 Question Id : 54062623439 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f&T 7T arerRIier o fore Sfrd Yo 1 = HifeTg |

3 ¥ Iy - TG a1a|
Options :

1. % YR

2. % U™

3. ¢ 3

4. % 39

Question Number : 174 Question Id : 54062623439 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f&T 7T aTeRITer o foTe Sfrd Weg 1 T HifeTg |

3 Y &Y 7 G a1aT|
Options :

1. % IR

2. % U™

3. ¢ 3

4. % 3y




Question Number : 175 Question Id : 54062623440 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Praffad gsg &1 yafgar 761 @, 31 Jifeu|
3

Options :

l. % dch

2. ¥ adld

3. % qd

4. % 3T

Question Number : 175 Question Id : 54062623440 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frfeied ree &1 yafgar =&t 2, Jrd S|
3T

Options :

1. % hch

2. ¥ qdld

3. % ad

4. % 3fHifbt

Question Number : 176 Question Id : 54062623441 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f3U 77T g T o1 Ta! e T J1d BT

Phd: Py
Options :



1. % B . HUf
2.*%:@
3. % Ul . BleT
4. ¢ A . &

Question Number : 176 Question Id : 54062623441 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f&T T Woc g 1 e Wsg i 1 BT

Pd. Pl
Options :
1. % B ; HUf
2. “WTETW
3. % P Picl
4. ¢ [Affd . &

Question Number : 177 Question Id : 54062623442 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f&T 71T 9Ty 1 ar=d J1d BTy |

P IRGICIRCII R
Options :

1. ¢ Hddred

2. % mHHAT

3. % Y[gary

4. % 3fHHD IrA

Question Number : 177 Question Id : 54062623442 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



f3T 71T a1y &1 1=y J1d BT

CERRCIEIREIR I
Options :

1. ¢ HdrA

2. % HUAH

3. % Y[gary

4. % JHUP qrA

Question Number : 178 Question Id : 54062623443 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fw Tu are B I Wt o1 T B Rad w=iF 3t gfd S|
SRl UA ferar|

Options :
1. %4
2. ¥4
3. % gRI
4.% 9

Question Number : 178 Question Id : 54062623443 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T 7TQ g o Iferd IR &1 999 e Rad RIF &t gfd difor|
ASHI U foran|

Options :
. %9
2. ¥4
3. % gIRT
4. %9



Question Number : 179 Question Id : 54062623444 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f3T T I & Ifed 31 TN BT UGN Hh Rad RIF B gfd Hiforg|
§gd SHMCER B

Options :
1. % gH
2. v Higd
3. % gH
4. % dH

Question Number : 179 Question Id : 54062623444 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U 7T are ¥ IFed 3 T2 &1 STAN B Rad I BI el B |
9gd SHFER B

Options :
1. % gH
2.« HigH
3. % gH
4. % dH

Question Number : 180 Question Id : 54062623445 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau T ot 1 gfy I BT

39 g9 fheR WTE?
Options :



1. ¢ JUIad®
2. % I JID
3. % O Yadb
4. % fygnef

Question Number : 180 Question Id : 54062623445 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

few T a1e ) gftr I1d i
3fal gH foheR 2
Options :
1. ¢ YYD
2. ® JiYdl JdPh
3. % g gab
4. % gy

General Hindi2
Group Number : 10
Group Id : 540626915
Group Maximum Duration : 0
Group Minimum Duration : 120
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No

General Hindi2



Section Id : 5406261162

Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 16

Number of Questions to be attempted : 16

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 5406261383
Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 54062623446 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fafafed & & o 1 eg gfce T el 62
Options :

1. # ]Rdd

2.¥ Y

3. % gl

4. % 9

Question Number : 181 Question Id : 54062623446 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafad # 9 &9 91 Wsg gfee T T8 82
Options :

1. # ]Rdd

2. ¥ Y

3. % gl

4. %t




Question Number : 182 Question Id : 54062623447 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafad § ¥ o 91 Ysg 9gd9- T8l /2
Options :

1. % Y-

2. ¥ Tl

3. % Tdf

4. % QY

Question Number : 182 Question Id : 54062623447 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafoRed & &9 91 Weg Igda- gl 82
Options :

1. % Y

2. ¢ Tl

3. % T}

4, % Y

Question Number : 183 Question Id : 54062623448 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraffad o | &1 1 aTe YdbTel aTe BT ISTeR0 T8l 82
Options :

1. % bR, HigH DI AR TG |

2. % GETEITE! Al

3. % SR U9 ST g1, 1 I o 1 e v

4. O TS A BT M|

Question Number : 183 Question Id : 54062623448 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

frafeiad & @ ®1F 91 I/ YadbIdl e o1 ISTER0 T8l /2
Options :

1. % {01, Higd &l AR e At

2. % g1 @ et At

3. % 3R U9 997U B4, a1 98 e 7 S usd|

4.« O 1S A BT ST |

Question Number : 184 Question Id : 54062623449 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f&T T g # QTR a1 1 BT
Options :

1. % T = IHT G 3R Il 15|

2.  IHAT G W el T |

R AC LRI ERCIE I RCI GEC G R RIEY
4. % SR g AT = @ @R SR el TS|

Question Number : 184 Question Id : 54062623449 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fou ¢ arel § T WA a1 J1d i |

Options :

1. % QAT S @ET @R 3R Il T |

2. « T W @R Tt 15|

3. % SF QI 3 @1 @R 99 98 e T |
4. % S € Offrar 3 QT W 8k Il TS |

Question Number : 185 Question Id : 54062623450 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fou 7T Tt | 9 iy are 31 S|

Options :

1. % Y PHfd BT 9 MR A & |

2. ¢ Sl Bid IRY BIdT 5, STDT I X A & |
3. % 98 I i g 3Tl 37T I e A & |
4. % 9 IRY B9 § 3R I I 31 HId |

Question Number : 185 Question Id : 54062623450 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu e aredi | < ey 9t J1d Hifog |

Options :

1. % IY Did BT YT AR PId g |

2. ¢ S H WY BT 8, ITHT I 3R HRd 3|
3. % gg I Hid g ST 3] Jd TS HRd g
4. % 98 IRY A § 3R I IThT 3TET HId ¢ |

Question Number : 186 Question Id : 54062623451 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
feferRad aTerl # U Y aTey o1 99 Bl |
Options :

1. % TeP 3R deipdi ug L B

2. % TSfHAT SR TSS UG W ¢

3. % TS 3R dSHh! Ug ! i

4. ¥ TSP 3R Tfehal Ug ¢ E

Question Number : 186 Question Id : 54062623451 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



feferRad aTerl # U g aTey b1 a9 Bl |
Options :

1. % TS 3R TSihdl Ug W61 &

2. % TSPl 3R TGS UG 8T 8|

3. % TS 3R TSB! Ug Wl i

4. ¥ TS R TSfhl UG I &

Question Number : 187 Question Id : 54062623452 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fau U a1’y & Iuged form faeg &1 o 6|

IR TS SR & oY F& R T JHY M AT G|

Options :
1. % .

2. %

b

3. %,

2

4.9 |

Question Number : 187 Question Id : 54062623452 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fau U a1’y & Iuged form faeg &1 o 61|

IR TS S & oY F& HRA BT JHY 3T AT 5|

Options :
1. % .

2. %

b

3. %,

2

4.9

Question Number : 188 Question Id : 54062623453 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fou ¢ It # T foRme g &1 SUaiT fohat ST S9! Uga™ Sifvg|
e TR U U BN 99 H 3TUh! TgRIdT e

Options :

1. # YYddd
2. % AHJdRUl
3. ¢ SfGIRH

4, % Yd

Question Number : 188 Question Id : 54062623453 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fou U gt # Ty forme fag &1 SUaiT fohan ST S9! uga™ Sifvg|
e TR UTY U BN a6 H 3{TUeh! GgRIdT B3|

Options :

1. % UHddH
2. % 3{IdRUT
3. ¥ 3G

4. % <fYUd

Question Number : 189 Question Id : 54062623454 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau U 9T’y & Iuged form fag &1 o= iforu|
ECRUREIRGE

Options :
1. # YYddd
2. % fqupriediesd




3.  quffaRm@

4. % dlUd

Question Number : 189 Question Id : 54062623454 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau U 9T’y & Iuged form fag &1 o= iforu|
EPUEISI RGN

Options :

1. % YdrIdh

2. % fqwEfedie®
3. ¢ guifaRm™

4. % dlUd

Question Number : 190 Question Id : 54062623455 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f3T 7T a1 § Iuged faR1 forg &1 99+ sifou|
Qo # R i gl X8l &

Options :
L% ()
2. % |
3.¥ —

4 H (T34

Question Number : 190 Question Id : 54062623455 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f3T 7T a1 § Iuged faR1 farg &1 99+ sifsu|




Td H 8R ofid 8 Wl ]

Options :
1. % ()
2. %1
3w
4, & «»

Question Number : 191 Question Id : 54062623456 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed oy &, fou U aR fawedl 8§ 9§, 39 fawed &1 999 o S faU 0 GgTak & 3 &1 9a98 T ¥ ad Rl 5|
31 & ST AT 37U et |

Options :

1. ® guf &U Y WA gl

2. % UGN A Bl HGG Pl

3. % 3G Afdd &l gRT ST

4. ¢ TSI AfGd T GgrIdT AN

Question Number : 191 Question Id : 54062623456 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, fiu 70 IR fawmedl § 9, 39 faded o1 90 3 o1 T 7T JRTar & 31 &1 Jd9§ U ¥ oJad HRal g |
3% & 3 I 30T et AT

Options :

1. % quof &0 ¥ W= g1

2. % 3G Afdd BI Agq HRAl
3. % g fad BT YeRT ST
4. ¥ 3T fdd T Teradl AT




Question Number : 192 Question Id : 54062623457 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, fiu 70 IR fawedl & 9, 39 fadwed o1 7o 3 o1t f3T 70 gerer & 31 &1 a9y U § oJad Hral g |

31T H§ THR I ST
Options :

1. % U B

2. ¢ A% d HARY I8 ST
3. % 3y BT

4. % GG BHRAT

Question Number : 192 Question Id : 54062623457 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed oy & fou 70 aR fawedl § 9, 39 fawed &1 999 & S faU 0 GgTak & 3 &1 498 ©9 ¥ oad Rl 5|

U131 4§ THR g ST
Options :

1. % 3Od g

2. ¢ a0 d HARY T8 ST
3. % 3Ry BT

4. % GORIT BT

Question Number : 193 Question Id : 54062623458 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, fiu U IR fawed & 9, 39 faded o1 7o 3 o1 fT 7T gerer & 31 &1 Jd9§ U ¥ oJad Hral o |

SR ST
Options :
1. ¢ B BT SUHH HIAT




2. % HUS H SRI STAT
3. % M
4. % GO H gl

Question Number : 193 Question Id : 54062623458 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, fiu 70 IR fawmedl § 9, 39 fawed o1 9o 3 o1 fT 7T JeTar & 3 &1 Jd9§ U ¥ oJad Hral g |

SR STerT

Options :

1. ¢ O BT IUHH HAT
2. % HUS H SRI ST

3. % & A

4, % IR H @

Question Number : 194 Question Id : 54062623459 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fT TTQ 9l § Yugad faRH g il are’r o) 31 BTy

Options :

1. % ewid Tt «fR1er SramEE & ugE Hid U
2. ¢ YD id FUTS! R BRTare & U9E $d U1
3. % APl AU fARTaT SraTaTe & UgE Hfa U2
4. % ThHid OS] FRIAT BAMEG & “Ug@ Hid Y|

Question Number : 194 Question Id : 54062623459 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fau U aTRIl B Iugad foxd faeg Hdeidt are &1 I Hifeg|

Options :




1. % epid Tt «fR1er SramEE & ugE Hid U
2. ¢ YD id FUTS! R BRTare & U9E $d U
3. % <gdpid BT fARTa Sramare & Uy oid 22
4. % ThHid OS] FRIAT BAMEG & ‘Ug@ Hid Y|

Question Number : 195 Question Id : 54062623460 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafead uy o, fiu U IR fawedl & 9, 39 faded o1 9o 3 ot fT 70 geTer & 31 &1 Jd9§ U § oJad Hral o |

3ok 1 ISt @
Options :

1. % Agd B et FHT
2. % 3{dd] IdMI

3. % {9 YIAT

4. gfgoitdl g

Question Number : 195 Question Id : 54062623460 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed oy & fou 70 aR fAwedl 6 9, 39 fawed &1 999 o 1 faU 0 GgTak & 3l &1 498 ¥ ¥ oad Rl 5|

3farT b1 XIct W
Options :

1. % HgTd Db Ut GHT
2. % 3] Il

3. % A WRAT

4.« §fgoitdt g

Sub-Section Number : 2
Sub-Section Id : 5406261384
Question Shuffling Allowed : Yes




Question Id : 54062623461 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (196 to 200)

frafeiad T @ ermgde ufgu 3R fau mu sk & 3w S|

T T § ORI 61 SfaeT § Aol & YH 3R ST & A1 I ST ST AT <=7 & ATl & S1e 39 ST B8l S T
YR & e o IS H ISR &1 A Hi 311 81 G I8! § &thd 1 =P A Ig Yol 591 0 § | I§ o & UfdH H Uiz 3
T IS § | ORI B! IS SR § 9 T8 o 370 Ma! Sfaer, T WMidbd aul favd @ Agal & RO URIE ¢ | I8! &I IHhfad
el TUT 38T 1 RIGR & TS § | 342,269 T [halHIC & &7 H el U8 &R BT Jod IST I ¢ | GV b Hl Qe b ATH
11 TR YT & ST 8 | ST HTYBAR U Ao g, STel Faiieres Ydra Y | JuT auf 3req A § gl 8 | IR 5T 3T
HATHD ToTac! 3R ATt HeTdT & fRTT ST STl § | 3 5T D1 i Wi SIgr DI SRl § | TSI 37T Yeal, TWURT, Tpia,
I, 3faeT SR WIRS! A g1 & 9wt whes] &1 siftid Sl ¢ | A Hedl! o1 defl, TXpid SR g fbal & forg ulie &)
g1 &1 GBI U Y HISH SIe-a1eT AT, T2 B Hooft, Al 51, TS HoRT, debTR1 Yforar saie oo gid 8 | ST 1 S1iordi, fsiet
SITRY SR YlTe ¢RY 7 U HT oIl ¢ | TeT IR dgd IRT Wio! Fufy off T 8 1 IO H FHRER 3R SHRG TR H @H & |

Sub questions

Question Number : 196 Question Id : 54062623462 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YTl IO B ST B YW & g A1 I ST Sl o2
Options :

1. & TSIYdT-T

2. % TR

3. ® HAHD Jolad]

4. % AT BT RIS

Question Number : 197 Question Id : 54062623463 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
8T BT T HIoH 1 62

Options :

1. % A1

2.« SIA-S1E RAT




3. % gra-Id
4. % fof poR

Question Number : 198 Question Id : 54062623464 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
RIS B ST T 52

Options :

1. % SYGR

2. % HI3C 3MTq,

3. ¢ SR

4. % §iBTR

Question Number : 199 Question Id : 54062623465 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ORI <X & $dl &Hd BT fhd-T U1 YT H S g3 g2
Options :

1. % 10

2. %50

3.9 11

4. % 20

Question Number : 200 Question Id : 54062623466 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f3T 7T TR T U XY F1 R
Options :

1. % Hgdl DI el

2. % Yt YA

3. % el Sfder™

4. ¢ SR B TP id



Question Id : 54062623461 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (196 to 200)

frafeiad o & emyde ufeu 3R fau 7T usi & I il

T THT T oI D1 S 8 Ionsil & YA 3R A1 & 1 I ST STl AT S=T & SATSS! & 816 39 ISR Hgl o Tl
YR & FaTTI® Yax Aol | Ao HT 19 of o1ar 8 | Gt Il T 8w d &1 € ¥ I8 T 981 39 ¢ | I8 <% & Uiy § uifdrea™ o
ww%wﬁwﬁm%au@w&mﬁmﬁsﬁ%ﬂ Wﬁwaw%anﬁ%wm%wﬁm
el a1 SITeT &1 eRIER o+ A1 g | 342,269 a7 fahaiiiiex & & & Thall I8 ST &1 Jad 981 ST o | ¥ & Hd AHd &b T TH
11 TRIRIE YT & 1 2| ST SifRimaR YT TR B, Wwﬁ%ﬁ?ﬁ@%aww&mwﬁaﬁélwmm
D FoACt 3R AT HETdT o Forg ST SfTell & | 9 357 T Hepet i IAGTH Y afelt ¢ 1 ASTRIF ST Yo, TR, TP,
T, SR 3R TR A gfar & Tt qdel ! 3irehfiid vl 3 RIS G o1 e, Tepid 3R UfereTRiep febehi 3 forw URig 21
g1 &1 GBI U Y HISH STe-aTET IRHT, T2 B Hoolt, fHrel 151, T HORI, Wﬁﬁﬁmwﬁwﬁﬁ%l RIS 1 1o, Fia
SITRYT SR XlTe 4RY &7 IS FHgT ST g | qslq?quW{gldwwﬁrlﬂHH&%l ISR H TTHRAR 3R SHRA TRl &8 @ 2|

Sub questions

Question Number : 196 Question Id : 54062623462 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ui 999 § ISR Bt Y D1 foog A1 I S ST 412
Options :

1. & SYdT-T

2. % IR

3. ® HAlHD Joldc]

4. % G B RIS

Question Number : 197 Question Id : 54062623463 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
g1 &1 T-& HIoH a1 82
Options :

1. % GRS



2. ¢ GIA-SIEl AT
3. % QAN

Question Number : 198 Question Id : 54062623464 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TSR BT AU T 62

Options :

1. % SHYQR

2. % HI3C 319,

3. ¢ SR

4. % §iHTR

Question Number : 199 Question Id : 54062623465 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TSR GRT & e &l b1 febaTT UICr=Td HITT H & g3l g2
Options :

1. %10

2. %50

3.¥ 11

4. % 20

Question Number : 200 Question Id : 54062623466 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T 77T Ty T IuYe e T BT
Options :

1. % Hgell bl ol

2. % el YA

3. % WTel gidgr



4. ¢ ISR BT HEPid



